


Which of statements are True?

®
(1)

(1i1)
(iv)
(A)
(B)

(©)

(D)
(E)

Octane number increases with chain length.

Cycloalkanes have higher Octane number than straight chain
alkanes.

Alkenes and aromatic hydrocarbon have higher Octane
number than straight chain alkanes.

Branched chain alkanes have lower octane number than
straight chain alkanes.

(1) and (iv)

(1) and (i1)

(i1) and (111)

(1), (11), (i11) and (iv)

Answer not known

Spaar_aubidler erg sflwimrer sabmi ?

(1)

(ii)
(iii)
(iv)
(A)
(B)
(©)

D)
(E)

srudlell Qamiit smBb Curgy w&ECLer eram o wWidlDng.

Crrrer @Cadrsmerd sMliig@ib cumenw JHLCEaEEHES L Wihs
2,&GLar erer 2 e

Coyrar  o@Caersmend anluygib dfaseEnd  HCrTLMiKGE
aanl Cyr artuers@sb Sifes oEC e erem Camam g).

Coyranr o@Casaramerd asTlipgib Heoersdr 2w shdedls Qpmi
2oCaansdr Geanpeuren &G 6 erefr CamearLg).

(1) wppid (1v)

(1) wpmuod (1)

(11) whmub (1i1)

(1), (1), (111) wHpd (V)
dilenL Gasfwelldrena

3 CCSEI-1IAP25
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2.  Match the following hormone with the disorder caused :

(a)
(b)
(c)
(d)

(A)
(B)
(©)
@)
(E)

Insulin

Thyroxine

Glucocorticoids

Growth hormone

(a)
5
2
5
2

Answer not known

4

o O = o

1.

I L

Cushing’s syndrome
Diabetes insipidus
Acromegaly

Goitre

Diabetes Mellitus

anriGurargamer el o g _r&@n CrmiusGarm( Qummsss :

()
(b)
(c)
(d)

(A)
(B)
(€)
D)
(E)

@) iraradler

g T et

&EBECHTHTTIG ST

auari&s apriGomedr

(a)
5
)

5
2

e Qg flueiidena

CCSEI-IAP25

(b)
1

4
4
4

(c)

(d)

L W = Lo

O S B A

@eipsli Her Gymb
eLwmdlLev @erdi§ ev
21&Crmblaned «

&LPENE

Eflfley Cpmis



Choose the right matches :

(1) Carotenoid —  CssH70Os5N:Mg

(2) Chlorophyll ‘a® —  CsH705N Mg

(3) Chlorophyll’> —  Cs;;H70OsN Mg

(4) Xanthophyll —  Cs50H70OsMg

(A) (1) and (2) are correct (B) (3) and (4) are correct
(C) (2) and (3) are correct (D) (1) and (4) are correct

(E) Answer not known

sflwrsy QurkssLLLLass Carbbsdssey

(1) sGrmgermis® —  CgsH7OsN Mg

(2) usswbd ‘@’ —  CpsH7O:N Mg

(3) uéswr D’ —  Cs5H70O¢N Mg

(4) smBCansld —  CsoH7O:Mg

(A) (1) wpgibd (2) sfwnareneu (B) (3) whmib (4) sflwureneney
(C) (2) wpmb (3) sMwrerenau (D) (1) wpmpid (4) sfwurerensu
(E) e&fler Gaflweliidena

The Nobel Prize in Medicine was awarded to Viector Ambros and
Gary Ruvkun for their discovery of

(A)
(B)
(©€)
D)
(E)

Expression Sequence Tags
Micro RNA

DNA micro array

SNP’s

Answer not known

st bGrmev whmb HCr peugenr HHACwrfler aps samrB Ayl ssTS
wmbgleusdd Crrud eflihg euprIsHLLL & ?

(A)
(B)
(©)
(D)
(E)

Qeueflium@® auflens iy GHlFLenHaeT
mer gf.erer.er. (micro RNA)

.. GTET. ). [Ieir <oiewfl

erei.ereir. 9. (SNP’s)

aflen Qg flwelidranew

5 CCSEI-IAP25
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5.  Which of the following statements are true about crew selection and
training for “Gaganyaan Mission”?

@

(ii)

(ii1)

(A)
(B)
(©)
D)
(E)

Crews are selected after clinical, psychological and
aeromedical examination,

Mission-specific training will be conducted at ISRO,
Trivandrum.

Selected astronauts will undergo their generic spaceflight
training in Yuri Gagarin Cosmonaut training centre, Russia.
(1) and (ii) only

(1) and (iii) only

(111) only

(i) and (iii) only

Answer not known

Gereumd  smppsefi, creeu “ssdnurdr  alamQeasflisHL”  elpismens
Caibs®sse whmb Lpd ghss sfurer mpmser?

@)

(i)

(ii1)

(A)
(B)
(&)
(D)
(E)

dla@n@eiell vwewr ofpiaer, wHSHe, eeaeflud wHpb Aworer
wpsgeus ufGsrgemeans@ns@l UnGs CabblsHssiiu@ et

dia@mCaefifir  L9p8, @eawCyr (ISRO), Hnaapsyrsdo
B Gundlpg.

Csfay Geuwiu’  efemQeuefl Lwenr eofprser, Qurgy Fdwrer
arardaelly vwewr L@HSGmer gegwrelld odrer Wil ssmier
<ier_Geuafls vwefl LWIHA ewvwsHad Qupeuriser

(@) wpgib (i) we G
(ii) womb (11i) wr Gibd
(111) wi_{Hud

(1) wpmib (iii) wr Eb
dflen GsMwelldena

CCSEL-IAP25 6 B



Which of the following statements are correct about PFAS?

(1)
(ii)
(i)
(A)
©
(E)

PFAS is per and poly fluoro alkyl substances.
It is used in paint industries.
PFAS are endocrine disrupters.

(1) and (i1) are correct (B) (ii) and (iii) are correct
(1) and (111) are correct (D) (i) only correct
Answer not known

Spssngb sppssaicey PFAS updlu sflurer sappissamar Caip@sBésab.

(1)

(i)
(iii)
(A)
(©€)
(E)

9.eri).qr.eren. ererug Quircli@sGrm whmib UreSlLLEEGIT B damad
QummLseT LS.

@8 aanariiyss (Quuilan ) Agmfiipereaasaise LwaLGEsILGEDS.
@& prandeen srliGamens Figmas@d Hpar e wg.

(1) wpgw (11) sMwnerenal (B) (ii) wpmbd (111) sflurarenas
(1) whgb (1i1) sMwrerene (D) (@) we b sflwureans
eflen GQsMwelicdenc

The biological oxygen demand is the amount of dissolved oxygen

required by in water.
(A) Microbes (B) Plants
(C) Animals (D) Seaweeds
(E) Answer not known
2 WiGaudweller g badlger Coemeu eremuig, Hifle LIWIGTLITL g 68
Gungl msTliL{ELD D Eellger eTa| 2L EGLWD.
(A) mpamgyulii (B) Qegsar
(C) eAeisser (D) s_pundlser
(E) efler Gzfweiidvena
7 CCSEI-IAP25
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8.  Which of the following is the first Indian Geo-Stationary Satellite?
(A) INSAT 3D (B) LANDSAT 8
(C) IKONOS1 (D) QUICK BIRD
(E) Answer not known
Gereumpeuareaupiler erg wad @bdw yellsnt QewupaassGarar?
(A) INSAT 3D : (B) LANDSAT 8
(C) IKONOS1 (D) QUICK BIRD
(E) &er Qsfluelicrena

9. Who among the following tribes act as cattle keepers?
(A) Dhimor (B) Kewats
(C) Rawats (D) Bhils
(E) Answer not known
Slemeumid Liphi@iquSleriled wint srepen. Lrmofliiunerisems Qeawdu@EpriseT?
(A) Hwnr (B) Gaseun e
(C)  yeumiew (D) Geévan
(E) e&flerr Qsflweldane

10. Assertion [A] : Development of a nation depends on
infrastructure facilities.
Reason [R] : Transport and communication are the back bone

of economic development.

(A) [A] and [R] is true and [R] is correct explanation for [A]
(B) [A] is true but [R] is false

(C) [Al [R] is true but [R] is not the correct explanation of [A]
(D) Both [A] and [R] are not correct

(E) Answer not known

ampmy [A] Briger euariédl 2 &L el ausdewé snibss.
smyemrd [R] : Cumsgeursgs wHpmbd Gsree@sr iy, Qummertgmy
cueriréSlullen pgGEagbLmEHLD.

A)  [A] wpgid [R] #fCw, [R] ssrar 18s& sfwuner eflarésd [A] @u@id.
(B) [A] sfl gyemed [R] geugy

(C) [A], [R] MG, <yama [R] [Alssrer sflwner eferéswde

(D) [A] wpgid [R] @renGid geugy

(E) dfer Qsfucidvama

CCSEI-IAP25 8 B



g

Match the following type :

Match correctly the river and its places of rises.

(a) The Krishna 1
(b) The Alaknanda 2
() The Gandak 3. Tibet
(d) The Brahmaputra 4 Sahyadris

Garwal Tibet border

Central Himalayas

@ - @ | (d)

(A 3 2. 14 1
B) 1 4 | e 3
C) 2 1.8 4
D) 4 1o @ 3

(E) Answer not known

Seirau(md euendemwill GlLmmss).

<M HDID g 2 (Heun@b/erupb @ sHenar sflwns Qurmsg) :

(a) &meigerrm 1. sreund HOug ardene
(b) swspssT 2.  wsHu @uowwae
(c) snanLs 3. #0usg
(d) Ggbwysdyr 4.  swnsfev

(@ M (o (d)
(A) 3 2 4 1
(B) - 1 4 2 3
(). 2 1 3 4
(D) 4 1 2 3
(E) oflenr Qgflweiidena

9 CCSEI-IAP25
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12. Arrange the following events in chronological order.
() Ahemadabad Mill Strike
(i) Champaran Satyagraha
(ii1) Kheda Satyagraha
(iv) Rowlatt Satyagraha
@A) (@), (), (i), Gv)
(B) (v), (iid), (i), ()
©) @, @), (i), (v)
(D) (i), (i), (@), (v)

(E) Answer not known

sme aflesiiLy. SHEEs.

() eepwsruns Bd Caumae Hpss
(i1) ewumper ssHundysnd

(i) Gssr saSundysd

(iv) | Qrererl. ssSHwndlysid

(A) (1), (1), (11), (v)

B) (@), (i), (i), @)

©) @, @), Gu), (v)

(D) (i), (@), (1), Gv)

(E) oo GaMucidena

CCSEI-IAP25 : 10



13. How did education contribute to the Indian Renaissance?
(i) Contributed Growth of Money
(i1) Promoting scientific learning
(iii) Promoted social and cultural progress
(A) (@) only

(B) (i1) and (iii) only
(C) (i1) only

(D) (1) and (ii1) only

(E) Answer not known

@sHwu wpweréfsss soellllar unisefliy edaaury 2 geil Calgg) ?
(1) vewr auarirdflenw QsTHSss

(i) eflefwe oble) cueriédéssns

(iil) sepsy varur® wWerGaTdPLb ThHuLL g

A) @) wceon

B) (i) wppud (i) e Gi>

(C) (1) wrEw

D) @) wpgd (iil) we b

(E) dflen Gsflwelicrena

B 11 CCSEI-IAP25
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14. Match the following :
(@)
(b)
(c)
(d)

Peshwa
Amatya
Sachiva

Sumant

(a)
1

(b)
2

(c)
(A)
(B)
(€)
(D)
(E)

1
2

3
2
4
3 1

4
3
2

Answer not known

e e e

Foreign Secretary
Chief Minister
Finance Minister

Superintendent

(d)

- T < - I

Yemraumeuareupenmll QUThHSSS

(a) Cuegeur

(b) ewwrgdwi 2.

(c) s&faun 8.

(d) swps 4.
(@ () (©

A 1 2 3

B) 1 4 2

(C) 2 3 4

(D) 3 2 1

(E) e Qsflweidrene

CCSEI-IAP25

1.

SweBT (H Gawer
(PG LDEFFT
Bfweinéair

samsrentlCiLmert

(d)

12



15.

Choose the right matches among type :
(a) ‘Indian World’ Journal

(b) ‘Telegraph’ Journal
(¢) ‘Bengal Kirkaru’ Journal

(d) “Calcutta’ Journal

)
(B)
(©)
(D)
()

gflwren eflepLenwis QUMmSSS :

Bpdu 205’ Gs
‘Quelldlgm’ @sip

(a)
(b)
(c)

(d) ‘sosssr Ps

A4)
(B)
(©)
(D)
(E)

(a)

= W b

(b)
3
3
1

4

(c)
2
1
4

2

Answer not known

(@ @) (0

4 3 2

2 3 1

3 1 4

1 4 2
aflen GgMwellcrene

(d)

G2 b =

‘Quisne issnm s

(d)

L N =

1. J.S. Buckingham
2. Charles MacLean

. Mekenly
4. Duane
1. Cag.erel. LIGERISTD
P amievey Qudeden
- Q&semad
4. \g-Wb G TehT
13 CCSEI-IAP25
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16. Reason and Assertion type :

Assertion [A] : Cinema was becoming popular in 1940’s.
Reason [R] : Anna could achieve his ideals through Cinema
Artists.
(A) [A]is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A]
(C) [A] is false but [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation

(E)

of [A]

Answer not known

STyenTd LHMID b euens :

sapm [A] 1940 sefle faflor Gruewrs @mbss:.

smerrd [R] @ HAaflor seagisdar ppob oarant sarg @el Hukisemar

(A)
(B)

(©
D)
(E)

SIOLW Wiy 55)

[A] &Ml wyermed [R] saug

[A] wppw [R] @rean@w &f, Gugub [R] eemwg [A] &5 sfwuner
elleré & om@ b

[A] seup syamed [R] &
[A]ib [R]b &, gpemmed [R] erérug) [A] &@ sfwrer elaréswda

aflen Gsflweildeme

CCSEI-IAP25 14 B



17.

18.

Which one of the following is correctly matched?

(A) Champaran Agitation -~ Bal Gangadhar Tilak
(B) Ghadar Party - Lala Hardayal

(C) Ganapathy Festival - Annie Besant

(D) Home Rule Movement - Gandhiji

(E) Answer not known

Spsar_eubmer ehss smpmé sflwursls QurmssiLl Hererg ?

(A) sbugmer Serirsd - UTe) SRISTS] Slevs
(B) ssis & - QUITQUIT QUDITFWLIMET
(C) saud uamgms - sjeaflQLigeb

(D) serarm & Quissid - SHEe)

(E) d&feor Gsflueidame

In Tuticorin, Tamil Nadu, Subramaniya Siva Campaigned for strike
in 1908.

(A) March — April (B) January — February
(C) February — March (D) April — May
(E) Answer not known

1908 b e suGroesflu Aer sODET gaidrar FrbHsEguld
Cumym’ L g8lh@ Wrssnyd Cewgi.

(A) ontE - gure (B) geareufl — Giiyeuf

(C) Quyeufl - wriré (D) gugéer — Guw

(E) eflen Qsflwellérens

15 CCSEI-IAP25
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19. Which of the following statements are true?

(i) The National population policy, was promulgated in April
1976.

(ii) Included provisions for health care, nutrition and more stress

on Education for girls.
(111) The goal was an eventual average family size of two children.
(A) (i) only correct
(B) (1) and (ii) only correct
(C) (i1) and (i11) only correct
(D) (@), (i1) and (iii) correct

(E) Answer not known

Geeumid Biblsamssatc erg o @mewLTag ?

(1) 1976 gruigelléd Caélw D&ESET Czrenssd Camarens
s emiuBSsCILrLg).

(1) @& ssrgmb, s fedg whpbd Quen @hmsseiar swallsE s
wé&fwsgseubd aflssng.

(111) Eser Qass G@ndulied @ranh Gubmssaas Qarar. syrefl @HbU
Siereuns QGhss-

(A) () wc@Ewb sh

B) () wpgud (i1) w G &
(©) (i) wpgid (iii) wi G &M
D) @), (i) wpgd (iii) &
(B) oL Gsfucideme

CCSEI-IAP25 16 B



20. Who founded the Satya Shodak Samaj in 18737

(A) Jyoti Rao Phule

(B) Sri Narayana Guru
(C) Pandita Ramabai

(D) Dayananda Saraswati
(E) Answer not known

ssw Gengd Fongy-w 1873 Qo Canppeilgseun wmi?
(A) Cgrd greu yGe

(B) o promwent @@

(C) LIG8eTIg.& (JLOMLIMI

(D) swremks syeveud
(E) dfeL Gsflusidame

21. Which among the following was the first Christian Ashram
established in South?
(A) C.F. Ashram at Pachalur
(B) Christukula Ashram at Tiruppatur
(C) Zion Prayer Center at Madurai
(D) Dyana Ashram at Chennai
(E) Answer not known
SpsramruerauppieT arg QFH@ u@Hular BpeuiulL Sflevgien jenwliber
s HATotb?
(A)  &.er. Agwowd, usgnit
(B) dAfldvgige epflpobd, Smoiusg
(C) ACurer Qrrgseer ewWID, WOFGET
(D)  SHwrerm wfiqobd, Qeerener
(E) oflen Qgflwehidrena

B _ 17 CCSEIIAP25
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22. The Talaikota Battle was also called as

(A) Toppur Battle

(B) Rakahasi — Tangadi Battle

(C) Battle of Rajagambira Rajyam
(D) Battle of Kannanur Kuppam

(E) Answer not known

sanasGamen Gum erempih Sienp&sliILGEDg.

(A) Ggnmuyt Gumi

(B) grsapnd) - grsmg Gumi
(C) ogrgsbSy grgguid Cum
(D) seavenagnit GLLb Gun
(E) dflen Qsflwetidrena

23. Shivaji was crowned as an independent king at

(A) Raigad

(B) Surat

(C) Ahmedabad
(D) Poona

(E) Answer not known

Heuned &gpdly orsTrs @Lq.@LLlJuLL_ @b

(A) gmiusm

B o

(C) apwgrung
(D) yern

(E) eflen Gzflweiidans

CCSEI-IAP25 18



24,

25.

In the Indus Valley civilization the major commodities in Internal
trade consist of

(1)
()
3)
(4)
(A)
©)
(E)

s

Cotton

Lumber

Grain and food stuffs
Livestock

(1), (2), (3) only correct (B) (1), (2), (4) only correct

(1), (2), (3), (4) correct (D) (1), (4) only correct
Answer not known

snbeiall prafssde wasdwu gppwdl Cumrmlserns e drprl(H

aunenflugdler smBSLILIHUS

(1)
(2)
(3
(4)
(A)
©)
(E)

LSS

DD

2 awe| el rkiseT

&N HEL_GelT .

(1), (2), (3) L@ & (B) (1), (2), (4) w B &

e Gsflweidana

Which is/are the aims of a sound “Theosophical Society”?

(1)

(ii)
(1i1)
(A)
(©)
(E)

Believes in Karma, Yoga and Indian Philosophy.
Universal spiritual brotherhood.
To protect the society from evil practices.

(1) only correct (B) (i1) and (ii1) only correct
(i) and (ii) only correct (D) (1) only correct
Answer not known

Smbweprer senLuler Crrésh wrg ?

@

(i1)
(iii)
(A)
(€)
(E)

g, Qursr, @bSHwus ssseusdear Bg pbGsams

2 asameilu sy enls sCargrsgieuld

Sw pan_qpenpsailelmpg sapgsmusanss LUTSISTILS.

(1) wi @G & (B) (i1) wpmw (111) wi @b &
(i) whmd (i1) wi G & (D) (11) wi @b &M

dflen @aflweildena

19 CCSEI-IAP25
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26.

27.

Assertion [A] : The zonal councils owe their origin to the
constitution.

Reason [R] :  The zonal councils are the logical outcome of the
reorganisation of states on a linguistic basis.

(A) [A] and [R] are correct; and [R] is the correct explanation
for [A]

(B) [A] and [R] are correct; and [R] is not the correct explanation
for [A]

(C) [A]is correct; [R] is wrong

(D) [A] is wrong; [R] is correct

(E) Answer not known

sapm [A] : DelTL e LD BT M & 6T 3|6ubHlem GarppsdnE
SirfluaendhEs sambliul Hererg).

aryenrd [R] ! warLe warphisdr Qurf eglumile wrflomsamer
wmifrenliuger siés fHwmear eflenareum@ib.

(A) [A] wombd [R] &f, whmib [A] &5 [R] sflwrer eflerssid:

(B) [A] wpmb [R] &M, wpmid [A] &5 [R] sflwrer slerésivde

(©) [A] afl; gered [R] seuy

(D) [A] seumi; pemed [R] &

(B) oflenr Qsflweiirana

Sexual Harassment of Women at Workplace Act was enacted in the
year

(A) 2013 (B) 2017
(C) 2014 (D) 2016
(E) Answer not known

veflllmsefler QueansEnsE urdlwd Seaupssss (BEUY WO
sULESHUIY, i genUy) genLslLib @uppiiul L e

(A) 2013 (B) 2017

(C) 2014 (D) 2016

(E) &fen Gsflweiidena

CCSEI-IAP25 20 f)



28. Arrange the following events in chronological order.
1. Golaknath v/s State of Punjab
2. Keshvananda Bharati v/s State of Kerala
3. Minerva Mills Ltd. v/s State of India

4. A.K. Gopalan v/s State of Madras

A) 1,2,3,4
(B) 3,4,1,2
K. 43,28
D) 1,3,24

(E) Answer not known

&@ﬁmumma‘}m srapenpLiLily alflesiuBEss.
1. Gsreéprg vis ugpers wrbleab

2. Gaseunenpgs unydl v/s Cagerm wrHleid

3.  denfreur Bleev Bl v/s @BHw 2ire

4. A.K. Gsruneer v/s wgyren ijs

A 1,284
B) 3,4,1,2
©) 4,1,2,3
(D} 1.3 2.4

(E) e&fer Qsflucidama

B 21 CCSEL-IAP25
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29. Match correctly with the Suitable Act.

(a) Preventive Detention Act (PDA) in India 1.~ 1871

(b) The National Emergencies Act was 2. 1974
signed into law by President Gerald Ford on

(¢) The Indo-Pakistan war 3. 1950

(d) Conservation of Foreign Exchange and 4. 1976

Prevention of Smuggling Activities Act

@ () (e i(d
(A) 2 TRERE
(B) 1 47108
C) 3 15
D) 1 - 28

(E) Answer not known

3
2
2
4

ghlwmen cuflemsanius CaiblsHés.

(a) @ sHLUY sTeuD FLLLD 1. 971

(b) Csdlu siusrare siLsdhE Agrrar LCuri@ 2. 1974
&GWwSEIL L e

() @pCsr—urdlevgrer Gumt 3. 19560

(d) Qeauelipm @ ufleuisgaer LTFEBTOIL WHEHID 4. 1976

sLHs0 QFrudurhsdr sHLIL & LD

@ @ © @
(A) 2 1 4 3
(B)- 1 4 3 2
(C) 3 4 1 2
D) 1 2 B 4
(E) &fen QsMwelicrena

CCSEI-IAP25 22



30. Consider the following Statements, Chnosle the correct answer :
(i) January 30t is the Death anniversary of Annal Gandhi Adigal

(ii)) January 23" is the Birth Anniversary of Netaji Subash
Chandra Bose

(i11)) April 14t is the Birth Anniversary of Annal Ambedkar
(iv) October 13t is the Birth Anniversary of Sardar Vallabhai Patel

(A) (1) and (ii) only correct
(B) (iv) only correct

(C) (iil) only correct

(D) (1), (i1), (ii1) only correct

(E) Answer not known
Spsam_ cunsdurisaner smgs, sflwrer den aw Caib@s0Hés.
(1) gereufl wrgnd 30 b Cadl siamamd srdwgseier waphs HaronEld

(i) merauf wrsb 23 eyb preér Crsngd sundy sbdrCurdvellan GDbs
Semom@b
(111) guge wrgw 14 b Brar samard obGussflear Yphs SearomEb

(iv) srgri eudeumi uGLd 9pps Heanbd 2&CLTUr 13 @b

A) () wopd (i) we e &
(B) (iv) wi @ sf

(C) (1) w @ &f

D) @), (1), (1ii) v Eb &f
(E) oflenr QsNueidee
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31. Consider the Assertion (A) and Reason (R) and choose the correct

answer.

Assertion [A]

Reason [R]

A remarkable difference between China and India
was observed regarding mass politics around air
pollution control.

China employing the approach of Historical
Institutionalism to control air pollution.

(A) Both [A] and [R] a.fe correct statement; [R] is the correct
explanation of [A]

(B) - Both [A] and [R] are correct; [R] is not the correct explanation

of [A]

(C) [A] is correct; But [R] is false
(D) [R] is correct; But [A] is false
(E) Answer not known

Epaumid spm [A] wppid srremrd [R] slemees smgs. sfuner eflenanuws

CaibElshHEs.
safhm [A]

argenrd [R]

srhm  wrsuTLeL  sLEUUEsSuSe  Farmellh @b
@pdurelpEend @eLCu  @mésh  WBsuQuflw
Caugunireng), opoeanr  GUbSmésmigL  CQauEger
Srlwen@h earums sran (Wigdlns.

srhm wrsmes sLHUUBGHeuSd Farr eugampp Hpieuer
SIEWG PPl LweTLBSgeuCsmEib”.

(A) [A] wpgw [R] eerp @ren® sapmd &f; [R] eremug [A] & sfwumer

eflem&aLn @D

(B) [A] wpgd [R] eemp @ram@wn &M; [R] erenug [A]l 8@ sfwner

ehlerésiIoee

(C) [A] erémug &f; [R] eremug seumy

(D) [R] eremug &f; [A] erarug seum
(E) efler Qsflweiidens

CCSEI-IAP25
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32. Which of the following are the objectives of Tamilnadu safe and
Ethical Artificial Intelligence Policy, 2020?

(1) To establish guidelines for the evaluation of Al systems before
its rolled out for public use -

(1)) To provide restricted access to open data, data models and
computing resources

(ii1)) To promote investments in AIR & D in Tamilnadu
(A) () only

(B) (i) and (iii) only

(C) (i) and (ii) only

(D) (i1) and (iii) only

(E) Answer not known

Epaumeuaneuhpiet eraneu sllpsTH UrgsTUUre wHnIb Gpflapen Gswbhans
mamanhles Cararens, 2020 @er Cprésiiser @b ?

(1) Qurgwésefer vwauT yheEe aA@LHLUSHE wearar Gsupas

maneile] weapsmers Sparmie Geiwyn st @ Apdapapaear
au@H&s Geuanr(HiLd

(i) QesefluueLwrer greysdr, sre] wrdflsdr wHDD Ty
STRISEHES uTUnISSUILLL @indew aulphiEGsed

(iii) sWPppriged Qeupes mearardle rmisd wHpb Gubur iy hsrer
padHEmen Figs

Q) (@) w@o

B) ) wppd (i) we G

(C) Q) wpgd (1) w G

(D) - (i1) whmyd (1i1) LEEW

(E) oo Gaflweidars

B 25 CCSEI-IAP25
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33. Which is/are the objective/s of a Right to Information Act 2005?

(i) RTI is empower to citizens, promote transparency and
accountability in the working of Govt.

(11) The Act is a big step towards making the citizens informed
about the activities of Govt.

(111) This Act provides right to access information from public
authorities, which is guaranteed Art. 13 of constitution.

(A) (i) only (B) (i1) and (iii) only
(C) (i) and (i1) only (D) (i) and (iii) only
(E) Answer not known

Seraumeuanaupmer saeud dlujb o Mews s b 2005 Ger Crrésmisamar
Qgfla Cauis.

() @8 @GywssesEe fsmmd efissd, srflar  Qeudumged
Qevefliuien g semenio wHmih QuTmCiLewTieney oamd@ellliLg) By @ELb.

(1) erfler Qeudurpsd GOS8 Gi4066EH5@ QsMuliu@sgieus.

(1) @& @rsmwuler e piy 13-a1 £ 2 pfuelssiul L Gy oésEHE®S,
Qurg sifarlsall_Bmbg sseudsmer Hupb o faweaw oafsdng.

(A) () v @Eb - (B) (1) whmb (111) wi @Gib

(C) () whmbd (1) w G (D) (@) whpb (1i1) wi Gbd

(E) ofleo Gaflweiidame

34. Which among the following was the first state in India to constitute
an institution of Lok Ayukta?

(A) Karnataka (B) Kerala
(C) Maharashtra (D) Rajasthan
(E) Answer not known

Gpdureller Caond wssrenes Himellu qpge wrBlen erg ?
(A) afprisn (B) Gasgern

(C) waryreiggrm (D) @orrgavgme
(E) eflen Qgflwelicvene

CCSEI-IAP25 26 : B



39.

Which of the following statements are true about Election

Commission of India?

()

(i1)

(iii)
(A)
(B)
(©)
(D)
(E)

Conduct elections to parliament, State Legislatures and to the
office of President and the Vice-President

India’s First Woman Chief Election Commissioner
Ms. V.S. Ramadevi

India’s first Chief Election Commissioner Mr. S.P. Sen Varma
(i) only

(1) and (iii) only

(i) and (ii) only

(i1) and (iii) only

Answer not known

Gerreumeuareupmier @hdu Caige ameammub @hsgs sfluraems e(pgs.

(i) ummEswearpbd, &L UCUT@eSET LHNL GYUTss SoQeUl, SeeT

Gigpwis sgeneer Cunis_@ Caighaear pLigieug.

(i) @pHwuneilen psd Cuer somamw Csisd yamarur Smod. af.ere.

TrGsell e

(i) @bHwrellen wad sowamn Caisd emaui Hm. eev.9. Qsear euinm

@)
B)
©)
D)
(E)

<DL GUIIT.

(1) wi @b

() wppid (i) oc Gid
(i) oppid () we @
(if) wpgud (i) e Gd
eilen Qzfwelcoene
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36. Match:

(a)
(b)
(c)
(d)

(A)
(B)
(©)
(D)
(E)

Article 257(A)
Article 131
Article 245(1)
Article 275

@ ® @© @
5 g o
2 1 5
1 TR
2 R

Answer not known

o R v B

GLIT(BESIS.

(a)
(b)
(c)
(d)

(A)
(B)
©)
(D)
(E)

s158 257(A)
srbs 131
srpg 245(1)
sybg 275

@ ® © @
5) 3
2 ;
1 e

2 5

eflenL. GsMweldene

i < A+ | B -
O W QO

CCSEI-IAP25
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o

E:'.J1

e R S

Grants-in-aid

Judicial proceedings

Supreme Court

State Jurisdiction
427d Amendment Act

wraflw 2 gefl

pdsgiop pLeugsmsser
o && Bdlempid

wrble id&ry ey

427% Hmsss 1 1b



37.

38.

Choose the correct matches from the following.

(1) Fourth Finance Commission — A.K. Chanda

(11) Tenth Finance Commission  — Shri K.C. Pant

(111) Sixth Finance Commission - Dr. Rajamannar

(iv) Ninth Finance Commission  — Shri N.K.P. Salve

(A) (1) and (i11) are correct (B) (11) and (iv) are correct
(C) (i1) and (iii) are correct - (D) (1), (i1) and (iv) are correct

(E) Answer not known

sflwrer Geeameanw Gsra| Cews.

(1) premambd HE & - 7.Cs. ahsm

(i1) ussmbd HE @ - . Cs.8. Lbs

(111) gpmbd HF Gw - LT, T et
(iv) gerugmbd Hf & - . erern.Cs.9. srCGau
(A) (1) whgd (111) &f (B) (i1) wpmw (iv) &f

(C) (1) whmd (i11) &M (D) (1), (11), (iv) &

(E) eflen Gsflweiidvena

The Financial Position of the Panchayat is reveiwed under

(A) Article 243-1 (B) Article 243-E

(C) Article 243-B (D) Article 243-C

(E) Answer not known

saryrl Sseflar ff Flevewmwsmer fFrmie Qalubd sdfsmmd @hs <irélwed
grgen alfullen &1 Celwtiu@Epg.

(A)  <@rdwud snsear il 243-1 (B) eiflud srsar afldl 243-E

(C) eirdwe srsear ofld 243-B (D) wirflwe srsean ofldl 243-C

(E) &feor Qaflwelicrenad
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39. Which of the following statements are true about the quahﬁcatlons
for membership of the state legislature?

(i) 25 years of age in the case of Legislative Assembly

(i1) 30 years of age in the case of Legislative Council

(iii) Possesses such other qualifications as may not be prescribed by
law passed by parliament

(A) (i) only (B) (1) and (i1) only
(C) (1) and (ii1) only (D) (i1) and (iii) only
(E) Answer not known
wrfle s Lweam e minfert sedsdr GhHsgs Gaeumd smppsaild erg

o_GiTeniD ?
(1) 25 awwg HlpbGweuisdr s CurameudE sEHurarauiser
(1) 30 awg Hrblweaisd sl Cuomads s@Huraeiser

(111) wmgm wenpib HlerpCGapBlus s sgméd @jﬁluﬂl_uut_rrg Gp s@dsmer
Gupdlmés GeuarHib

(A) () vLEw (B) () whmbd (1) wi Hibd
(C) (1) whgd (111) wi b (D) (1) whmd (1i1) wi Gib
(E) eflen Gsflweildvans :

40. The Madras Legislative Council was formed by the

(A) Government of India Act of 1919
(B) Government of India Act of 1935
(C) Indian Councils Act of 1861

(D) Government of India Act of 1858
(E) Answer not known -
Cleerenar wramenr F L 11 GuUreey FULLILIG 2 (HeumdsUULLg).
(A) @pdu ors sb 1919

(B) @pdu wigs s b 1935

(C) @idw saendler e b 1861

(D) @pdw g s b 1858

(E) dfen GQsflweldena
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43. Assertion [A]: Article 51-A does not expressly cast any

fundamental duty on the state.

Reason [R] : The duty of every citizen of India is the collective
duty of the state.
(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A]
(C) [A] is false, [R] 1s true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
sapmy [A] : eguy 51-A werg QaefluueLwrs irflhE Sigliue
sLenwsmer clfléselldene.
smembd [R] @ @ywiser ga@eanmeamésepdarer sLamwsalear QsmeEnGu
SrHlen SLenseTm@Lb.
(A)  [A] smpmy &l e [R] smyemmd seup
B) [A] smpp wpmd [R] smemd @ran@od of; wppd [A] mppssnar
[R] srpemrib &l
(€) [A] sapp saup, [R] smyemmd s
D) [A] spp wpgn [R] smern Gran@o sfl, gemed [A] samppssrer
[R] sryemnd seum
(E) eflen Qsflueiidma
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44. Which of the following articles on Fundamental Rights is incorrectly

Definition of State
Right to Education
Power of the Parliament to modify the rights

Legislation to give effect to the provisions of
the fundamental rights

paired?

1. Articlel12 -

2. Article21 -

3. Article34 -

4 Article 35 -

(A) 1 and4only

(B) 1 and 2 only

(C) 2and 3 only

(D) 3 and 4 only

(E) Answer not known

EpssarL igiueL 2 flawvad Qgrifurear Sirsewl eldaeser sflwns
QurmssILLTS Glenem erg)?

1.
2.
3.

A)
(B)
(C)
(D)
(E)

sieenwiiy el 12
@ggemwliy el 21

2ipsenwliy efld 34

spsewliy oflf 35

1 wpmd 4 i Hid
1 whmib 2 i Hib
2 whoib 3 L Hb
3 wHmibd 4 i HD

—  réler auenTwenn
— sdell 2 fleno

— SuliveL 2 flewsafid wrhpb Qelujb
BrLm@poearmddlen o fenwo

- @plumL 2 fewsd o drer Sbshsamar
Qeweu®ss s L iflwbHpe

aflen Qgflwelldreney
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45. The word “union” is the “Union of States” in our Constitution was

inspired by the
(A) Canadian Constitution (B) England Constitution
(C) Irish Constitution (D) U.S. Constitution

(E) Answer not known
‘onfletsafler gendlun’ eremy Qerh@pr_fé L bGubhmerer ‘@erdlwib’ erer

QFmed Briigen sirfluaaniddmbg e@ssrer GubmeTers.
(A)  serLm eyrfweenliy (B) @rudflerbg <irdfluaeanliyy
(C) swierbg Sirdweaeninliy (D) =Qufss sirfliueanniiy

(E) e Qsfucidema

46. Choose the right matches :

1.  Power of High Courts to issue certain writs — Article 226

2.  Transfer of certain cases to High Court — Article 178

3.  Establishment of a common High Court — Article 231
for two (or) more states

4.  Extension of jurisdiction of High Courts to — Article 320
Union Territories

(A) 1and2only (B) 2 and 4 only

(C) 1and3only (D) 4 only

(E) Answer not known
Qurmaswrer Comgsmer Csia) Qauis

1. ewr pHuvaprseiar giudcL 88 Curmaarsomen — off 226
pribéeh sdsmrb

2. @iudie apsgsme 2 witdoamsdne wrdpsd — o6f 178

3. @ren( sdag s wbeokiseEnss - ofig 231
Gungieuner e wifdloenpd @wsse

4. ewifoaprsaidr si@smry urteu gerhlul - ofild 320
LGSsEnéE@ efflaurssd Qeiisn

(A) 1 wpgid 2 wi_Gib (B) 2 whmib 4 @b

(C) 1 wppw 3w @ (D) 4 we@Ew

(E) oo Qsflueldama
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47. Consider the following statements, and choose the correct answer :

(1)
(11)
(i11)
(iv)
(A)
(B)
©)

(D)
(E)

The American Constitution was the first to begin with a
preamble.

“Preamble” to the Indian Constitution, resembles
“Independence of the United States” observes N.A. Palkhivala.

Justice M. Hidayatullah, called the preamble, as the Identity
Card of the Constitution.

A Republic Includes all public offices being opened to every
citizen without any discrimination.

(1) only correct

(i) and (iv) only correct

(1i) and (ii1) only correct

(1) and (iv) only correct

Answer not known

Epsan_ sappssamer smHs, slurar dleLaw Csrpbsdés :

(@)

(i1)

(iii)

(av)

(A)
(B)
©
(D)
(E)

“apsliyenruLanr’ gaukdw wpsd srflueeniys siLb Qwiés
2i7flween ULImELD.

‘@pdu sirfluaemnlfear gpea@yurarg 2Gwiss psdu prseafler
sspdrses CGurala @msdlpg’ o1 2pm  GCoprédluet
N.A. vodleunar @y,

gdud M. @swusmoen wsaeruras QhHw  irsewLSer
S|ENLITET i Nl eTA BENLDSSEUTTEUMIT.

GG e areruser GUTmHaT, Diards GUNTE QCULSRISGEHD SaMmads
G ossErsGh ey umguUTblard s@aTaumEGSL 2 flug
cremueSLLD 2 ararL SSwgmELd.

(1) w @b &

(1) wpmid (Iv) w b &fl

(i1) whmd (1i1) w G &

(i1) whmitd (1v) wr G &

eflen Gsflwelcvensy
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48. State Industries Promotion Corporation of Tamil Nadu (SIPCOT)

was established by Tamil Nadu Government for the development of

(1)
(i1)
(iii)
(A)
(B)

©)
(D)

(E)

Large Scale Industries
Medium Scale Industries
Small Scale Industries
(1) and (ii) only

(i) only

(1) and (111) only

(1) and (iii) only

Answer not known

sHLETE <ivs QsmPle warCapps span (SIPCOT) eam siewiiy

sORHTE  spsne  Epsser..  Qgmfle  owwvlulmar  aeETlLSHETS

2 (HEUMSSLILIL L &)

@
(1i)
(i11)
(A)
(B)
(©)

D)
(E)

sanss Qamfpaname
BOSsTS Gsmfipsraa
fmy Osmfe Asmipsrea
(1) wpgib (11) wi G

(i1) wi_ @b

(11) whHmd (1i1) v Gid

(i) wpgid (i) 1o Gud

eflen Gsflweldrena
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49. The Scheme “Pradhan Mantri Janjatiya Unnat Gram Abhiyan”

focuses on

(i) Toimprove the socio-economic condition of tribal communities

(i) To empower tribal women and promote gender equality

(iii) To provide high quality education for the tribal children

(A) (@) only

(B) (ii) only

(C) (i11) only

(D) (i) and (ii) only

(E) Answer not known

Grarer  wHHN mermrd wHend Hwurw war sdwrear S FHlen

Cpréswnang)

(1) upREy sepshsaldar sups-Aurmertsmy oy GubLpHssisw

(1) uprEy Quarserss <fstrd Sefigsd whpb undear sosguSms
vard &6l He

(i) uvprREy GYbasSsEnsE 2 Wisy sdellew aupmbi@se

A) (@) wi@o

(B) (1) we @b

(C) (ii1) wi@Gib

D) (@) whgd (i) wCED

(E)

dlent Ggflwelidrana
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50. From the following in the year 1962 in the wake of Chinese invasion
which Act was passed?
(1)  Anti-Secession Act
(ii) Anti-Immigration Act
(ii)) Anti-Trafficking Act
(A) (i) only (B) (i) and (ii) only
(C) (1) and (iii) only (D) (i) and (iii) only
(E) Answer not known
ﬂmmé_rgaummmgjm 1962 g yean® Fori veLQUEteu SOSS
BlenpGeupmrini’ L s ib ergy?
() Yfedearanss sELILF FLib
(1) @EuyCubps sELILEF & b
(i1l) sLgs® HELILE SLLID
(A) (1) weEw (B) () wpgid (ii) G
(C) (i) whmud (iii) wi @ (D) @) wpmub (1ii) wi @b
(E) &l Qsfwefichena

51. Assertion [A] : Social Justice basically does not deal with equal
social opportunities.

Reason [R] :  Social Justice is non-proportional to either social
equality or social rights.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C) [A] is false, [R] is true

(D) Both [A] and [R] are false

(E) Answer not known

ampm [A] seps B eerug  iglueuld  sowrer  saps
QUMULILSeeTs enswmeTadlaeana.

amyenib [R] : 5(%&; b8 @arug saps  soGUD JdDOF  FAps
2 MenosEnde, aldlgranyohnsg.

(A)  [A] sflwnerg, syeme [R] saupreng

(B) [A] wpg [R] @ran@id sfwureree; [R] wyerg [A] dApsrer sfwmar
aflerésLd

(C) [A] saupreng, [R] sfwnerg

D) [A] vogw [R] @ran@ib seuprareney.

(E) oo Qsfucidma
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52. Assertion [A]

Reason [R]

The overall policy framework for the social sectors

in India is laid out by the Central Government.

The State governments have considerable

flexibility in designing policies.

(A) Both [A] and [R] are true; and [R] is the correct explanation

of [A]

(B) Both [A] and [R] are true; and [R] is not the correct

explanation of [A]
(C) Both [A] and [R] are not true
(D) [A] is true and [R] is false

(E) Answer not known

app [A]

smyewrid [R] :

@rdureie  supss  HopsEnsstar  @LHEWLISS
QaneaTens sL_Lamwlienul WSS 276 auGESDng.

Qanarensseer aigauamwliudd wrfle s saflsome

Qpdflipays searawenws Cderarr(arearar.

(A) empm [A] smpeerd [R] @rem@ &f; wppnd smrerd [R] spp
[A] ssrer sflwrer eflardswon@Ld

(B) spm [A] smemd [R] @reanGd &f; whmbd smrerd [R] spp

[A] sarer sflwrer eflerésinade

(C) spp [A] smyemd [R] @rean@n sflwnarzdae

(D) spm [A] af, sryesnd [R] seug

(E) oflen Gsflweiidvena
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53. Choose the right matches

®

(i)

(111)

(iv)

(A)
(B)
©)
D)
(E)

The first communal order for
distribution of appointments
among various castes

First Backward class commission
of Tamilnadu was appointed

Ambasankar Commission

Report on Tamilnadu Backward
classes Commission justifying
the existing reservation

(1) and (iv) only

(i1) and (iii) only

(1) and (ii) only

(i11) and (iv) only

Answer not known

sflwurer Aummsshsmer GCatey Qaiiiweib

@)

LeGeug srflulianflan_Cus Flwioerls
uflfeysanar (pse eUEGUILAITS e

(1) slPBTLger wsd IPUBSSOILL Gt
GUY gpeemud Hlullésiu L g

(i1l) enbursRsT SyeeRTLID

(iv) spCungdrer @)L @8 el
Bwruiu@sslu solbsr
GHuESSLULCL T spenarm 2iflésens

(A) () whgd (iv) wLED

B) () wppd (1) we @i

€)@ wppid (1i) @

(D) (i1i) wppid (iv) i G

(E) oo Qzflweidana
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Reservation totalling
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1920

1970
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54.

Match the following schemes with their respective beneficiaries

(a) Babu Jagjivan Ram $n Scheduled tribes
Chhatravas Yojana

(b) Atal Vayo Abhyuday Yojana 2. Minorities

(¢) Pradhan Mantri Jan 3. Scheduled castes
Vikas Karyakram Yojana
(d) Pradhan Mantri Janjantiya 4. Senior citizens

Vikas Mission

@ ® @© (@
(A) 3 1 4 2
(B) 2 3 4 1
(C) 4 1 2 3
D) 3 4 2 1

(E) Answer not known

Qereumib HU L hismer Sibshss HULhisalear Lwemalls@Ldr Aurmsgis

(a) umy ségiaue ymb sdymeuren 1 UL igweller Lpki@igulei
&b

(b) @i e albur Hiysts Hrid 2. Smunenentoulleir

(c) QGpsw whAM mer eflsmen 3. Ul igwelard srdlser

srinwdyd gl b

(d) Qyzw wHHM wergmemgwiT 4. (PSS (HlgLDESET
cl@men @uissd

(@ G @© (@
(A) 3 1 4 2
(B) 2 3 4 i
C) 4 1 2 3
(D) 3 4 2 1
(E) ofen Gsflweiidend
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55. The Justice Party was established in the year 1916 by whom?

(A)
(B)
(C)
D)
(E)

T.M. Nair and Thiyagaraya Chetty

P. Rangaiah Naidu and P. Ananda Charlu
Chidamparam Pillai and Subramania Siva
Jotirao Phule and Ram Mohan Roy
Answer not known

BHss & wmnd 1916 @b e Hpeuiur i go

(A)
(B)
(©)
(D)
(E)

T.M. prui whgb Swrsymu Qe g

P. masiiwr pry® wppind P. eyenps srigy
Agbumb Gerener wHpbd so@roerfiu Heur
Cgrdlymey WCGa whmib gmbCiomaer fmil
eflen QgMlwelidena

56. Arrange the event in Chronological order

(1)
2)

(3)
(4)

(A)
©)
(E)

South Indian liberal Federation was formed

Madras United League was renamed as Madras Dravidian
Association

Periyar E.V.R. transformed the Justice Party into Dravidar
Kazhagam

The Ministry of A. Subbarayalu Reddiar fought against the
Swarajya Party

), ), D), 3) (B) (2), (1), @), (3
(1), (2), (4), 3) (D) (1), (2), 3), @

Answer not known

Hlaspasmeas sre aflemsiiLg guprismibssa)b

(1)
(2)

(3)
(4)

(A)
(©)
(E)

CgeraflipHi srrrereunsd sl Lenwliy e (Feundsliur L g

Qulgrey wener@r  &f&,  Quigmey Srreflir  smisbd  erar
woQuWRL UL g

Guflwnr m.Qeu.gr. BHas Hews Syrell i sp&wns wrhlermi

. sUUTTWE Crlgunt ewssTame SFWUTTRLE s &g eaflyrsl
Gumymgwg

(2), (4), (1), (3) (B) (2), (1), (4), 3)

(1), (2), (4), (3) (D) (1), 2), 3), (4)
eflen Ggfwelldene
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57. The following statements are about the Tamil Nadu Government’s
initiatives : Find the correct statements.

(a)

(b)
(c)

(d)

(A)
(B)
(&)
(D)
(E)

Allocation of 5 crores to translate all the works of Annal
Ambedkar into Tamil through Tamil Development
Department

10 crores for establishment of Tamil Parapurai Kazhagam

Allocation of 5 crore for creation of separate department of
Tamil Literature in JNU, Delhi

30 lakhs financial support for Theera Kaadhal Thirukural
Project

(a) and (b) only

(a) and (c) only

(a) and (d) only

(c) and (d) only

Answer not known

sBbETE <irfdr pearpupdladr uphu Geareumd iflsmsseafld eme
sflurenena ?

(a)

(b)
(c)

(d)
(A)
(B)
©
(D)
(E)

sicrand wCussiler s@adsl umLliLys@ayb sl aariéds
gop ppab sBIPld Aumfuwiss 5 Camg @gIs&0)

s uTty@Ts seb s@wss 10 Camng @as&SEE

QLaed geanierd Crm udsmasspssde sl Qesslus salls
si@pew 2 heurss b Gang @56&0

Srr snsd Hméspdr AL sSnE 30 wlsd Hlusefl

(a) wpgid (b) LLED

(a) whHmiw (¢) @b

(a) whpid (d) wGib

(c) wpmb (d) wEb

efenL @sflwellcbene
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59. Which of the following statements are true about “The Chief
Minister’s Breakfast Scheme”?

(i) It has increased student attendance to high schools

(ii) Primary school children benefit from the scheme

(iii) The scheme has led to improvement in learning skills among
children

(iv) The scheme is limited to government schools only

(A) (1) and (ii) only

(B) (ii) and (iii) only

(C) (i) and (iv) only

(D) (ii) and (iv) only

(E) Answer not known

wswmwssfiear stae caragy Sin upfu Geaamb mppseis g

2_eTento ?

(1) ecwifeel udaalsaild wrarar amamsmwu fsflsgdrang

(i) Qsmssuuerefl Ghasadt GsH LS80 LwaemL dprisd

(i) @pss Hwb GppossaieaCu sppd Hperamer GobuFSS L e

(1v) @s&dLib eips ueteflgafa mL@a.h Qewau@ssiuBdng

A) () wpgibd (i) wC G

(B) (1) wpgib (1i1) v @b

© () wppid (v) e G

D) (i) wpgo (iv) LD

(E) eflen Qgflweiicoansn
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60. Match the four engines of development in the Budget 2025-2026 :

(a) 1%t Engine 1. MSMEs

(b) 2rd Engine 2. Export

(¢) 3rd Engine 3. Agriculture

(d) 4t Engine 4. Investment in people

@ ® @ (@

(A) 3 1 2 4
(B) 3 1 4 2
(C) 4 2 3 1
D) 3 2 4 1

(E) Answer not known

2025-2026 HHudsmsler @A Gerer pretg @upbdy eessmar
Qunmsgis.

(a) 1™ Qupdmb 1. MSMEs

(b) 2% Quipdyw 2. gpmiod

() 3" Quidyw 3. efleusmuid

(d) 4™ Qupdro 4. wssefle wsd@

@ - ®m e @

A) 3 RINGE Y | S
B) 3 R
T B R 1
@)-3 o i 1

(E) eflen Qsflueidrena
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61.

Which of the following statement(s) are correct about “Tamil

Pudalvan” Scheme?

(1)
(i1)

(i)
@)
(B)
(©)
M)
(B)

Launched on October 2024.

Improve the financial status of all male students studying in

government school after school education.
Monthly financial assistance of Rs. 1,000.
(1) only

(i) and (ii) only

(ii) and (iii) only

(i) and (ii1) only

Answer not known

wsoewssiar “slpl ysdear ESULab ehsgs sflurer Qsmp@preor

Gsfley Ceaws.

(1) &CLrmufr 2024-@é GaTmisliulLg).

(i) werefluuguusey Gpdu Sral Ldtell wWremeisaiar GCopuLLEES
Ceamawner il Heowmvewu GCobussfng.

(i) wrs fHuyselwns grumi 1,000 aupristuGEng.

A) @) wveEo

®) (@) wppd (i) wrGud

(C) (i) wpmwb (iii) W@

D) (i) wpgid (i) we G

(E) ofer Ggfwelicrena
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62. Why Business Firms choose Tamil Nadu as their preferred
destination for investment?

(A)
(B)
(€)
(D)
(E)

The State of the Art Infrastructure
Tax Concessions

More number of unemployed

More number of graduates
Answer not known

awafls fpaansd gear sllppr oL wsdSighe eGuuwrer @Liwors
Gsirey Qewidlermer ?

(&)
(B)
©
(D)
(E)

pelien 2 arsL L eniniiLy

afll&sgyansser

2ifls aaraflsmsiarar Cumauldans Ggmbloranisdr
<ifls aarafismsulorar Ll L griladr

dilen Ggflwalidenea

63. Name the scheme, a Tri-ministerial effort which includes Women
and Child Development, Health and Family Welfare and Human
Resource Development.

(A)
(B)
(©)
(D)
(E)

Integrated Child Development Scheme
Child Development Scheme

Beti Bachao Beti Padhao Scheme
Smart City Mission

Answer not known

Quenser LHYD Gphogsaiear warGarppb; &&TEMTDL WHNDL GHLU HeeT;
waflgeuar Guurh fHwuaaupen o e 8w apary iewisrameisaiar
pupéls S b erg ?

A4)
(B)
©)
(D)
(E)

POHEusloanhs GLbhans a‘umrr;#é]'s -2 [T
Gheos eueriédls i ib

Guiy ussrGeur Cuiiy usmTGeur L ib
e’ fiig S b

ailen Gsflwelldene
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64. Assertion [A] : During 2001 to 2026, for the states Bihar,

Madhya Pradesh, Rajasthan and Uttar Pradesh,
the population is expected to increase by 45-55%.

Reason [R] : More than half of demographic transition is

expected during that period.

(A) [A] is true, [R] is false
(B) [R] is true, [A] is false
(C) Both [A] and [R] are true; but [R] is not correct explanation
of [A]
(D) Both [A] and [R] are true and [R] is the correct explanation
of [A]
(E) Answer not known
ampm [Al LT w&HwbFGse, @ynggevgmesn o@D
2 58m97Cssd A wrfleomseid 2001-2026, sme
s 8o, wasaQgrens 45-55 sgeizn iflefs@nh eran
wnd ol Bererg.
sryewrd [R] ¢ Quebd uEgSurear wEEECETMS euetTésl &L WTHDHBISEET
@ps wrfleonsdld Qbs sresded Hswd ear
sefl&s UL (HereTer.
(A) [A] &f [R] saump
(B) [R] & [A] geum
(C) [A]lwb &M [R]w &f; spemed [R] eraruig [Alsg sflwnear efleréswonrsng
D) [A] wpgo [R] @raweud afl; [R] eretrugs [A] @ sflwner eflerdsiongib
(E) dler Qgflweidena
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65. Assertion [A] : The demographic dividend is defined as a rise in

the rate of Economic growth due to a rising share
of working age people in a population.

Reason [R] : India is in the midst of process where it faces the
window of opportunity created by Demographic
Dividend.
(A) [A] 1s true but [R] is false
(B) Both [A] and [R] are true and [R] 1s the correct explanation
of [A]
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] is correct
(E) Answer not known
sapm [A] . wasaTbgrensl Getey eaTLg @@ WESETASTESEIIED
2 P&@L  euwugeLw wasefldr ung obfsflsg
aumaugmd goHu@n Gummerngry eueridsl cldlgsld
ghu@d sfasfliuns euarumdsuBEpg.
smyemrib [R] D n&sETEgTen s Gereysermed 2 (heunssLIL L
aumitisefler srerygeng erdiCardarennd GFwepenpulier
Bhelld @pdlur o ararg.
A) [A] ofl yemna [R] saup
(B) [A] wpgid [R] @ran®Cuo &M whppbd [R] eaug [A] &5 sfwnrer
ellerésib
(C) [A] seug, [R] &
(D) [A] wppbd [R] @rarGCw sf e [R] eemug [A] &5 sflurer
dileTésid @eene eremLig &l
(E) &fer Gsfluefidens
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66. Match with the schemes and its main focus :

(a) PMGSY

(b) DDUGKY
(¢) NRLM
(d) MGNREGA

(A)
(B)
(©)
(D)
(E)

(a)

1
3
4
|

Answer not known

(b)

2
1
3
2

(c)

3
2
2
4

1.

4.

(d)

Lo —H =

Focus on rural youth between the age of
15 to 35 years from poor families

Sustainable livelihood opportunities
Rural connectivity

Livelihood security in rural areas

SlLrisener Digen (padlw Crpréssger Qummssald
(a) PMGSY

(b) DDUGKY
NRLM
(d) MGNREGA

(c)

(A)
(B)
(©)
D)
(E)

(a)

1
3
+
1

eflenL Ggfwefldeana

(b)

Lo = b2

()

e B b CO

1.

4.

(d)

CoO = B

gops @hHbutsmeas Gsipg 15 qpsd 35
awgsGul L Srmoliyp @eengpisdr g
seuend Glgadssad

flenewinar eumTPEUTSTT GuUTLILIL|&ET
&lgmoliyn @enerTiiLy

d&gmoriypiisefle eumpeunsryl uTgsTiy
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Water Conservation Programmes and States

-t L

1
2.
3.
4

Programmes

Jal Jeevan Hariyali
Neeru - Chettu

Jal Hi Jeevan Hai

Sujalam Sufalam Jal Sanchay
Abhiyan

S L diser

e geuen anifluwimed
Bm - L6

Rd anu sdeuer e

HEEMD SHLQMD Q6 &FEhail S ib

67. Match the following :
States
(a) Andhra Pradesh
(b) Bihar
(¢) Gujarat
(d) Haryana
(a) M) ) . D
(A) 2 1 4 3
(B) 1 4.3 4
(C) 2 VNS 3
() 4 ;) 2 3
(E) Answer not known
QuT(mEES.
B urgiemiyg S apd wrblekisesn
Lol 6o g e
(a) =pdoo QrCsebd
(b) Sanmr
() ©gs
(d) efwurenm
@) " ). ote)r =)
(A) 2 1 4 3
(B) 1 2 3 4
{Cy 2 4 1 3
(D) 4 1 2 3
(E) eflen Qasflweldenc

CCSEI-IAP25
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68. Assertion [A] : There has been a significant rise in the

percentage of labour force engaged in Industrial
sector during 1990s and 2000s.

Reason [R] : There has been a significant rise in employment

in the construction sector between 1991 and 2011.

(A) [A] is true, but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A]
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
sapm [A] : 1990s6ér wpmb 2000sefier Qzmfdgempuie o erer
Qemferariseier sgeigh flsfsgiareng.
smrenrid [R] : 1991 wpmw 2011 <y yearpsErsE @aLuid
s_@orens gople Caeeamiuy GHUALSssEe
seneller flsfsgierarg.
A) [A] &, gyama [R] paugy
(B) [A] wpgp [R] @rew@w af, wppd [R] aeaug [A] dpes sfwmer
elleT&sLomED
(©) [A] sau, [R] &
(D) [A] wpgi [R] @ren@n &fl, e [R] erarug [A] ep@é sfwimer
eflerd&sL0e e
(E) eflen Qgflwellcoana
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71. Match the following :

(a)
(b)
(c)
(d)

Jawaharlal Nehru
S.N. Agarwal

J.P. Narayan
M.N. Roy

@ m @© @@

(A) 4 3 2 1
(B) 4 2 3 1
(C) 2 3 4 1
D) 1 3 4 2
(E) Answer not known
Qunmdss

(a) geugniemd Go

(b) S.N. sisieumé

(¢) J.P. prgmwes

(d) M.N. gmu

(A)
(B)
©)
D)
(E)

@ ® @© @

4 3 2 1
4 2 3 1
2 3 4 1
1 3 4 2
aflenL Gaflweilcdene

55

i e

gt LR T

People’s plan
Sarvodhaya plan
Gandhian plan

National Planning

Commission

wéser S R

FiGeunsws S >
srhHws HLb Y
Godlus B L6 W \

CCSEI-1IAP25
[Turn over



72. Achieved growth rate of Eleventh Five Year plan is

(A) 8.2%
B) 9.0%
) 10.0%
D) 7.0%

(E) Answer not known

1l-aug gpgrar®s S sdle s euarisd efldsid

(A) 8.2%
(B) 9.0%
©) 10.0%
D) 7.0%

(E) oflenr Qsflwellcrana

73. According to Ragner Nurkse the starting point and continuation for
development lies in

(A) Organised money market

(B) Increasing the rate of capital formation
(C) Technological growth

(D) Removal of dualistic economy

(E) Answer not known

Tréent mifddy seursaflar smagiug, warCappsdharar yybub wHHW
Seupeps DT meshaner cufioperm ererug Dp&D.

(A) Egréstiur L Lews FHeng

(B) woger wssses sfsiiubszeus

(C) Gsmfe mru eueriéd

(D) @riew s QuIBETISTT DDLU DASHDISHD

(E) e Qsflueidama
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74. When one sees the person who taught not forgetting what they

75.

taught is dealt in the chapter

(A) Detectives (B) Hopefulness in Trouble
(C) Tyranny of rule (D) Benignity (perspective)
(E) Answer not known

‘sanG@enm(® LuleTmranyd SeTL T iU

ah_@u_ieur LDMI&& DML LTemin’ - GTET QLJFI‘@@E"H_LU ag;ﬂasrrum eTg?
(A) edoré (B) @@ésar spfwrenn
(C) Qar@mmCsrerann (D) senGesrm_Ltb

(E) el Qsflueicens

“Ozhukkaaraak Kolka Oruvandhan Nenjaththu
Azhukkaaru Iladha Iyalpu”. What is the meaning of the word

“Azhukkaaru”?

(A) Love

(B) Submissive

(C) dJealous

(D) Good Character
(E) Answer not known

“Gpssrnns Cands @reudagen CnHErsds)

st Qeors @uay” - agib @Gpefld eumb ‘WpssTH LS
Glummer wimg) ?

(A) ey

(B) = ssb

(C) GQumprenw

(D)  wekry

(E) dfen @sflueiidena
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76. Pick out the incorrectly paired from the following :

(1)

(2)

(3)
(4)

(A)
(B)
(©)
(D)
(E)

1962 -

1967 —

1968 -
1969 -

The Madras State (Alteration of Name) Act was
passed by the Parliament

Perarignar Anna Sworn in as the Chief Minister
of Tamil Nadu

Perarignar Anna was elected to the Rajya Sabha

The Madras State (Alteration of Name) Act came
into force

(1) only incorrect

(1) and (2) are incorrect

(1) and (3) are incorrect

(1) and (4) are incorrect

Answer not known

Gereumeuareup el (mpg seupre Gaarssiiul pdaraass Carbeshsaea)b.

(lgemen e wmile (Quiwir WTHoLD) FUL_Lb
BrLmgpoengdld HlapCappliulLg)

sllps peoemwisrmal Cuidesi Siarearm LselCubmmt
Curdlesr siamemr prgusunelhe CaibOs@asriuc Lt

Geemener wrfles (QuwiT LIHPD) FILID ALYIES UbSS)

(1) wi b suprens;

(1) whpbd (2) gaprarene

(1) wpmid (3) seuprareneu

(1) whmib (4) seupreree

eflen Gsflwelldame

1) 1962 -
(2 1967 -
(3) 1968 -
4 1969 -
(A)
(B)
(©)
(D)
(E)
CCSEL-IAP25

58 B



77.

Find out the rightly matched pair/s from the following and choose
the correct answer from the code given.

(1)
(2)
(3)

4

1925 — Periyar EVR started the periodical ‘Kudi Arasu’
1928 — The English periodical ‘Revolt’ was started

1934 — Periyar published ‘Viduthalai’ as a Tamil Daily
Newspaper

1937 — Periyvar brought out the Tamil Weekly
‘Pagutharivu’

Codes

(A)
(B)
(C)
(D)
(E)

L6

sar®nss, OGer@ssuucL  GOHOLqdmhe &

Only (1) and (2) are correct
Only (1) and (3) are correct
Only (1) and (4) are correct
Only (1), (2) and (4) are correct
Answer not known

Qar@ssuul_(aarareupdelmbs sflwrsl @un@g,@u @ﬂ}mg]mméa
U euT L uglenens

CarpeshHi&sa]b.

(1)

2
3)
(4)

1925 — Quflumt mG@aLyr. ‘G s aenn Lma @@
Qgmrdlermr.

1928 — ade ume sk NCaumdl QsmmsiulLg)
1934 - Quflwuni ‘dpsee’ ews s preaisprs Ceuafluditm
1937 — Quflwmi ‘uegsheay’ aap sllbeary @semyp Geuaflufiiom

@HSE

(A)
B)
(€)
D)
(E)

(1) wpgb (2) wrHGCw sfwraraney

(1) wpgb (3) wGCw sMlwuraremal

(1) wpmd (4) W ECL eflunrarana
(1), (2) wogb (4) LLECWL sflwnarans
elen Qafwelldena
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78. Assertion [A]

Reason [R]

Tamilnadu Women Conference held on
13.11.1938 at Chennai under the leadership of

T. Neelambikai Ammaiyar.

This conference passed a resolution for
abolition of caste discrimination and the title
“Periyar” was conferred on E.V. Ramasamy by

this Tamil Nadu Women Conference.

(A) [A]is true [R] is false
(B) [A] is false and [R] is false
(C) [A] is false [R] is true, but [R] is not the correct explanation

of [A]

(D) [A] is true and [R] is true
(E) Answer not known

sapm [A]

sryewrd [R]

slpET@H Guewsdr wrsr@h 13.11.1938-@ 4. feorblbes
Sibenwwrt geeenouile Gareanie e LiGubHDE.

@ps wLmErige stdu Caupmewverw  guitiLghHEb
r.Geu. grosmiléey  “Quilurt” Ll ePRIEGSHELD
Simorand HlepCeappriurLg).

(A)  smpm [A] #f sameéd smpamd [R] saum

(B)  spm [A] sy whgid smerd [R] seum

(C) empy [A] sap smrewmd [R] &M <eme [R], [A] &g sflwrer
ellendsinean

(D)  spm [A] &M whgd smyeerd [R]-b &
(E) oferr Gsflweldena

CCSEI-IAP25
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79. Match correctly books/journals with authors

(a) The Mirror of the year 1. A.P. Patro
(b) History of the Justice Party 2. N.S. Elango
(¢) From Sir Theagarayar to
Dr. Kalaignar 3. Muthusami Pillai

(d) Justice Movement 4, A.R. Mudalar

@ ®m @ ()
(A) 2 3 4 1
(B) 1 2 3 4
(C) 4 3 2 1
(D) 1 3 2 4
(E) Answer not known
2 Al e @rsL_e D|UTHETS) Lsssniser/usSlfeamassamen gflwmat
ELm(mESe L.
(@) & Oigir <0 § @i 1. A.P.GuiGyr
(b) aflevr M w & gevgev uniig 2. N.S. @eriiCan
() & Aursrmuflelmbs 3. wsgembl Gerenar

Dr. seeesit eueny

(d) gevgev ppeuGivam

(@ ® (@© @
(A) 2 3 4
(B) 1 2 3
(C) 4 3 2
(D) 1 3 2
(E) eflen Qgflwahlerena

B

B 61

AR. gppgellwmi
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80. The members of the Justice Party were sent to meet Joint select
committee in London for finalise Government India Act in 1919

(i)

(i1)

(iii)
(iv)
(A)
(B)
(©)

(D)
(E)

Arcot Ramasamy Mudaliyar
Koka Apparao

T.A. Ramalingam

S.K. Thulasiram

(i) and (ii)
(i) and (iii)
(iii), (ii), (iv)
(1), (1), (iv)

Answer not known

1919 b el @pHu BrsE s sms @S QelausHETS BLESILLL
gl (D5 Csireys Gmeu aam_aild shflés Hearn fHas’ d o pentsdr

@)

(ii)

(iii)
(iv)
(A)
(B)
(©)

D)
(E)

2haEr® @Grmosmdl apsedlwuimt

Caram liumymeu
I§.6F. Jroedlkistd

ereiv.Cs. gyerélgmb

(1) wpgud (i)

(i1) wpgid (ii1)

(111), (11), (iv)

(1), (i), (iv)

eflen_ Gsflwelldena
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81.

Choose the right matches among type.

(1)
(2)

3)
(4)

(A)
(B)
(©)
(D)
(E)

Krishnabai Nimbkar
Rukmini Lakshmipathi

Antony Ammal
Manjubhashini

(1) and (3) are correct
(1) and (2) are correct
(2) and (3) are correct
(3) and (4) are correct

Answer not known

Madras Youth League

President of the Madras
Women’s Students Organisation

Pankaja Textile Mill

Acting President of the Tamil
Nadu Congress Committee
during Quit India Movement

sflwnar Qurmss wuamsdwd Csrbbs(Hsse b.

(1)
(2)

(3)
(4)

(A)
(B)
(&)
(D)
(E)

Amagewrmumis Hlibsi
mélafl edegdlugl

él,r_'ra(.‘o’;rrsuﬂ S| BLOMET

wEsggeLimadlafl

(1) whpd (3) sMwrarenay
(1) wpgud (2) sflwrerenau
(2) whmid (3) sflwurarena
(3) whmbd (4) sRwnarenal
el Qzflweidena

63

DETTE G)enemehiT Fhidsh

FTTe &efli remreui yenLoli9ler
SENeVEUT

ukismT geyafl e

slpHTH smmudgen @pelen
gevaal (Qurmpiiy) GeudrenemuGen
QeueliCumy @usssdear Cung
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82. Assertion [A]

Reason [R]

The company asked the Collector of Ramnad to

Summon Kattabomman to his office at Ramnad.

Kattabomman was asked to meet the Collector in
connection with the arrears of tribute that he

owed to the company.

(A) [A] is true [R] is true
(B) Both [A] and [R] is false
(C) Both [A] and [R] are true; and [R] is correct explanation of [A]

(D) Both [A] and [R] are true; and [R] is not correct explanation of [A]

(E) Answer not known

s [A]

sryewrd [R]

il Gavil sGEuaiwunerisar e TLImaimiq Wid
&L Qumibloener @rroBnsL TS 24U & wimrerilesr
SiQaussdle s orr@wrm Cal H&QsmrarLmi.

HuGow  sbCuellurmse s Gauedmngw sUUD

fawati®  @muusmd ey Hurarer  spdé@ony
&L Cumbwer Csl_Ha@smareriiu_ .

(A) [A] &M, [R] &l

(B)  [A] vppio [R] geuy
(C)  [A] wppd [R] &f; Guaub [R] erarug [A] eyd@ sflwner eferésib

G

(D) [A] wppo [R] efl; Guaud [R] eremug [A] aj&@ sflwnenr eferésib

S{ebey

(E) &ler Qsfluei@ane

CCSEI-IAP25
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83. Arrange the following events in chronological order :

(1) Salt Satyagraha
(2) Swadeshi Movement
(3) Quit India Movement

(4) Non Co-operation Movement

A) (1), (2), 4), 3)
B) (4, (3), (@), (1)
©) (2),3), (1), #)
D) (2),4), (1), 3)
(E) Answer not known

Qemeumd Hlspa|saners sre auflensiiu@isss.
(1) e2uy ssfwundlysbd

(2) &Csd Quésd

(3) GadremerwCar GeuefliCumy Gussid

(4 epsgopurmn GuEsD

A 1),(@), 4,3
B) @), 3), @), (1)
© (@), 3), (1), @)
D) @), ®), 1), 3)
(E) oflerr Qsflwelidvene

B 65
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84. Identify the person who uttered that, “Nothing can be done without

shedding of blood. Japan was prepared to sacrifice 20,000 men and

gained a victory over Russia. If 15 crores of Indians do the same,

“Swaraj will be obtained”.

(A)
(B)
(€
(D)

(E)

V.0. Chidambaram Pillai
Subramania Siva
Subramania Bharathi
Vanchi Aiyar

Answer not known

“@rssd fApsmod agejd Geuw apuwrg. guumrer 20,000 efyirsenen

ursd Qalw swurrrs @Q@mHEsg. Teswreae Geuearng. 15 Camg GBHlwirsen

@ags Ceuigred, “surmhub” HaLseEb aam smBlu BUDT DN imETLh

smramaib.”

(A)
(B)

(©)

(E)

au.2.. Hgbumb Serener
sUigwentiu Heur
GUTwentlw Lmyd
aum@rdl gy

e Gsfluaicrens
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85.

Choose the right matches among type :

1.
2.
3.
4.
(A)
(B)
(©)

(D)
(E)

— A sangam age fort

Porpanaikottai

Iron Knife — Pallavaram
Merchant Guild Inscription - Mayiladumparai
Sarcophagus —  Marungur

1 and 3 are correct
1 and 2 are correct
2 and 3 are correct
3 and 4 are correct

Answer not known

Wemeumuencusatiey sflwmar Qummsssans CahbsHés :

1.
2
3.
4.
(A)
(B)
©
(D)
(E)

QurhuemensCam_anL

@@oys spd

euantl&s @y sedeal ()

ahFaGuL_i
1 whmib 3 sflwrarena
1 wpmib 2 sflwrareeu
2 wppibd 3 sflwurerena

3 whmib 4 sflwrerena

eflen Qg flwellévenen

@ff #hig sre Camianl
LIghenmeu b
wuller@Hbureap

m@@mr’r
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86. Arrange the following with reference to different stages of human

development :

1. The Nomadic stage

2. The pastoral stage

3. The hunting stage

< N The agricultural stage
A) 2,3,1,4

(B) 1,4,3,2

(C) 3,1,2,4

D 41,23

(E) Answer not known

wellg euaridflufler Demaumd GaicuGouy Flanewsamer @urisSmL&EsEaD |
1. prCLmg Hlee

2. gt flew

3. GaLen fleva
4. easmu How

A 2,314

(B) 1,4,3,2

€ 38,1,24

M 41,23
(E) <ferr Gsflweidena
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87.

88.

‘The Ocean of birth swims, swims and does not join the Lord’ — What

is the philosophy of this Kural?

(A) Siva Philosophy
(C) Surrender Philosophy
(E) Answer not known

‘ol Qu@phisLc Bhgeurnt BHsr

(B) Vidhya Philosophy
(D) Soul Philosophy

@epeuarg Gegm s’ — @EGSDET 2 amiTHgIb §SFHeuD creime?

(A) Hfa ssgeud

(C) syamsdl ssgiaud
(E) e&fler Qsfluaid@ene

Thirukkural Uraiasiriarkal :

(i) Pariperumal

(i) Dharumar

(iii)) Ki.Va.Ja

(iv) Dhandapani Thesigar
(A) (1) only

(C) (iii) and (iv) only

(E) Answer not known

Hme@ner 2 enqurdl flwrser
(1) uAuQuesorer

(1) s

(1) &l.eu.gm.

(v) sear_uresfl Cadlai

(A) (@) wrEw

(C) (111) wHmb (iv) wL G
(E) eflenr Qgflweiicdvena

69

(B) eflgwr gsgeud
(D) wemo EEEACTI

(B) (i), (ii) only
(D) (iv) only

B) (@), (i) we @
(D) (iv) wr @b

CCSEI-IAP25
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89. Assertion [A] : That is the land or country which forces free from

fierce famine, wasting plague and ravages of
enemies

Reason [R] . Poets consider it their primary duty to wish the

country and wish for the development of its
people. They want all countries to be special, not
just their own.

(A) [A] is true but [R] is false
(B) [A] is false but [R] is true
(C) Both [A] and [R] are true, [R] is the correct explanation of [A]
(D) Both [A] and [R] are true, and [R] is not the correct
explanation of [A]
(E) Answer not known
sgapm [A] : egudflyd geurd Wefiub Qegueasb
Cenr dwéeug BrH
&L [R] . BrienL mn@ﬁgmm‘gﬂm. pri (B waseflear Gubum en
ciplbyeuengulb LOGUTHET SOQWIML® SLeDDWINSE
smgdlerpent. et ol wL@EWenfl eremerm(Hib
Spuyddmés elmbydlermer.
(A) [A] sfl, gyamméd [R] seum
(B) [A] peup, spammed [R] &
(C) [A] whgw [R] @ran@w &f, whmw [R] earug [A] Abe sfwrear
ellardasiomELd
(D) [A] vppw [R] @renpd &f, wombd [R] eeaug [A] b sfluner
ellarésLoee
(E) oferr Qsflweiidens
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90. Which of the following statements are true?

91.

1. All the religions were accepted and appreciated in Thirukkural
2. Every religions ratified the views of Thiruvalluvar

3. He didn’t believe morality

4. Valluvar said that men with high principles deserved to live as.

(A) 1 and 2 only correct (B) 2 and 3 only correct

(C) 2 and 4 only correct (D) 3 and 4 only correct

(E) Answer not known

gflwnen Qgm_ers serHs.

1. QeucuGaum swWSMsE sTipgautseErb Hmsenamers Cumpdlearmioame.

2. Smedrigneu gHSD FOWEMSE STIHSEUT TN FDWRIGET FTED)
&HITL_1g.60T.

3. <papdHluie siupsswoner pbbsmsuDDe.

4. ewins GhH&Gsner Qaran® walgar eurpGauamBEwerr.
(A) 1 wpmb 2 wiGub &l (B) 2 wpmib 3 i @Gib &
(C) 2 wppb 4 w B & (D) 3 wpmid 4 w b &
(E) &flen Qsfluelidena

Arrange the following in order :

1. The goodness of the help to domestic life
2. The possession of love

3. Domestic life

4. The obtaining of sons

(A) 3,1,4,2 (B) 2
(C)- 1,2,4,3 (D) 3,
(E) Answer not known

auflesiuDsgs

1. eampsens genenr Heod

2. ey

3. @eéarpsms

4. ysoeuerl LUz

(A) 8,1,4,2 (B) 2, 3,
() 1,2.43 (D) 3, 1,
(E) e&fen Qsflwaildena
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92. Which book features the series “Pagaivar pull Aarga”™?
(A) Natrinai
(B) Kalitthogai
(C) Aingkurunuru
(D) Purananuru
(E) Answer not known

‘Uenseult L@ s’ ergyh QsTLi @LbGupmidTer Ere.
(4)  podlaan

(B) sdlsCsmens

©) gusppm

D) upsram
(E) dfen Qsflwefidrenc

93. Who gave special importance to Village Administration?

(A) Cheras

(B) Cholas

(C) Pandyas

(D) Pallavas

(E) Answer not known

gymo Blmeunssgses Apudlb QsrfsGsmi

(A) Gagi
(B) Gsmpr
(C) unemgwir

(D) uveeeur

(E) el Gsflueidena
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94,

Assertion [A] : Some poets live on their prize money. Most of the

poets have their own professions. They don’t
depend on prizes.

Reason [R] :  When poets who make a living out of their prizes

(A)
(B)

(©)

(D)
(E)

get prizes of low value / below their expectation;
they reject it.
[A] is true but [R] is false

Both [A] and [R] are true, but [R] is not the correct
explanation of [A] is correct

Both [A] and [R] are true; and [R] is the correct explanation
of [A]
[A] is false, [R] is true

Answer not known

anpm [Al : Leveursatie HaCr uffled aUTLD&EEn&EemILI

Gop@anerg (mbaserr. QumburGeami 555088
efimuurer Garfdsmeans Qalg eumpa) pLgdlar.

smyemid [R] uflfld  anpsmseawu  CuplsrerCLnt  sEdsss

(A)
B)

(©)

D)
(E)

(&EDDEUTH uifla peoSlwGLimgLb &b i
2efigsCumgid  SwGummenar  gFsGwer  wHsg
LomISS e,

[A] &, wyemed [R] seugy

[A] whpgd [R] éfu @ran@n &fl, emad [A] &fl eaauspE

[R] sflwrer eflenésiwee

[A] wppw [R] 2du @ram@w &f; wppw (R] werg [A] dparar
gflwrer eflendaswm@n

[A] seuprengl, [R] sflwnarg
aflenL GgMwelidene
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95.

96.

One man, 3 women and 4 boys can do a piece of work in 96 hours,
2 men and 8 boys can do it in 80 hours, 2 men and 3 women can do it
in 120 hours then 5 men and 12 boys can do it in

(A) 39i hours (B) 42l hours
54 11

(C) 43% hours (D) 44 hours

(E) Answer not known

@ e, 3 Cuanser, 4 euwedsd Carhg @@ GHUIELL Geaumeaw
96 wefll Corsde GCeudament. <Gs GCamewew 2 yewsdr wHYD
8 euwerasdar Gaipg 80 wenfl Crrsde Caldlearpart, Gery 2 sy ewser WwHHD
3 Queanser Gsibg 2Cs Caumawenw 120 wenfl Cprb Qsuddarpert, erafle
5 amadr woHmb 12 euwasd 265 Caumwaw GFuw aBsss CasTerEnd
Grirb 2 (HLD.

(A) 3911—1 o Gy (B) 42% ol Gl
©) 431—71 el b (D) 44 wef Cpyid

(E) efer Gsflwueiidena

"The diagonal of a rectangle is thrice its smaller side. The ratio of the

length to the breadth of the rectangle is

(A) 8:1 (B) v3:1

© 2:1 (D) 242 :1

(E) Answer not known

@@ decucuasdler apenevellLorerg sigen GmElu UssSSer ppern LRSS
o drang erafled Qecucusgsdler Herd whpb SswsHen ellflsd eremen?

(A) 3:1 (B) 3:1

© +2:1 (D) 2v2:1
(E) &fenr Qsflwefoma
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R . T65=8:y=T:19.5 find Xy

(A) 3:22 (B) 1:7
(C) 3:20 D) 3: 23
(E) Answer not known

x:756=8:y=7:17)5 aafled x:y g snans.
(A) 3:22 B 1:7

() 3:20 (D) 3:23
(E) dfer Qsfueidrena

98. If Rs. 1,600 is divided among P and @ in the ratio 5 : 3 then @’s share

18 .
(A) 900 (B) 600
(C) 1000 (D) 1200

(E) Answer not known
5. 1600 g P wpgd @ ereérp @ran® puis@sdE 5 : 3 aan fdssdo
Gfgsned @ eflar Lk

(A) 900 (B) 600
(C) 1000 (D) 1200
(E) eflen GgfAweidene

99. L.C.M. of (2x* - 3xyJ, (4x —6y)’ and (8x* - 27y") is ?

(A)  2x(2x - 3y) (4% + 6xy +9y?)
(B) 2'x*(2x -3y’ (4x* + 6xy + 9_}’2)
(€)  2°x*(2x - 3y)(4x* + 6xy +9y?)
(D) 2°x*(2x —3y) (4x + 6xy + 9y)
(E) Answer not known

(2x% - 8xyf, (4x - 6y) wppw (Bx:’ —27y") —an 8.Qu.1o.

(A) 2x(2x -3y (4x2 +6xy +9y*)
(B) 2°x*(2x -3y) (4x® + 6xy +9y)
(C) 22xg(2x—3y)2(4x2 +6xy+9_y2)
(D) 2°x*(2x —3y) (4x + 6xy +9y)
(E) efler Gsfweddvene
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100. Peter got 30% of the maximum marks in an examination and failed
by 10 marks. However, Paul who took the same examination got
40% of the total marks and got 15 marks more than the passing
marks. What were the passing marks in the examination?

(A) 35 (B) 65
(C) 85 (D) 70

(E) Answer not known

Seor  eemuel @@  Csieller oifls wduCuansefld 30% Qupm,
10 wHoQuansar elsgdwrssded Coraell ien dpri. Cogubd, UTd eraTLGIT
2G5 GCshellenan erpdl, GQuirss wvuCueanseier 40% GCupm, GCszres
Qupeugpsrer wHuGuaremens sTigeud 15 wHouGuearsdar ofasb
Qupidlprir. erafler BiBss Corellenr Cxrsdl wHLGLET eremer ?

(A) 35 (B) 65

(C) 85 (D) 70

(E) &l Gsfluefoena

101. Akila scored 80% of marks in an examination. If her score was
576 marks then find the maximum marks of the examination

(A) 720 (B) 620
(C) 820 (D) 710

(E) Answer not known

fleor  CGsielles 80% wviHuCueanseer Gupprer. Sjeuer GubDg
576 wHuQueanser crafld oibs Cairellar Quwrss wWHLLQUST@a Srams.

(A) 1720 - (B) 620
(C) 820 (D) 710
(E) eflen GgMlweiierened
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102. Find the next term.
0.5,0.6,1.5,4,8.9,
(A) 12.6 (B) 13.5
(Cy 148 (D) 17.0
(E) Answer not known

2|(H&s 2 MLy Smedr.

0.5,0.6,1.5,4,8.9,

(A) 126 (B) 13.5
(C) 143 (D) 17.0
(E) oflen Gsflwelicrena

103. A, B, C, D, E and F are cousins. No two cousins are of the same age
but all have birthdays on the same date. The youngest is 17 years
old and the oldest E is 22. F is somewhere between B and D in age.
A is older than B. C is older than D. Which of the following is not

possible?
(A) Dis 20 years old (B) Fis 18 years old
(C) Fis 19 years old (D) F is 20 years old

(E) Answer not known

A, B, C, D, E vppid F 4G germell L sGangrisdr. seuisefe abs
@m CargrisEpd @f5 audarm de. pamd, J@aaumsHESh Uphs
embd wib. Seisaier Bes@Gophs euwg e weaf 17 awgb, s idls
awg Qsrar. B, 22 awgb eewear. F syeatr B wpmb D &s
Qe 2 drer gGsT @@ auwg Garameuir. A eraruaui B g el Quflweaur.
C ererueur D g el Guilweui erafléd Spssamr _eaupble eg snsHwibldene ?

(A) D eremueufier euwig 20 (B) F ererueuflen euwgy 18
(C) F aeruaufler auwg 19 (D) F erenueufier euwg 20
(E) eflen Qsflwelerena
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104. In a.dice, if 2 is adjacent to 3, 5 and 6, then which of the following is
necessarily true?
(A) 3is adjacent to 6 (B) 1is adjacent to 4
(C) 2isadjacent to 4 (D) 2 1is adjacent to 1
(E) Answer not known

@ useLwlld 2&@ smde 3, 5 woimbd 6 odery eafle &Gy
QsrBssiu’_Herer smpbler o pfluiner 2 adreno g ?

(A) 3 &5 2imGs 6 2 dreng (B) 1 8@ =mCs 4 o drerg

(C) 255 2mCs 4 2 drerg (D) 2 &8 =(rCs 1 o_dreng

(E) &flen Qsflueidens

105. Five girls are sitting in a row. Rosy is not adjacent to Sivanandhini
and Abi. Anuradha is not adjacent to Sivanandhini. Rosy is adjacent
to Monika. Monika is at the middle in the row. Then, Anuradha is
adjacent to whom out of the following?

(A) Rosy (B) Sivanandhini
(C) Monika (D) Cannot be determined

(E) Answer not known

ghy  Cuarasdar m afleslld wibmsdprisd. Grrell ererueurt
flauppdall wpmid 98E simdad Qhme. sgurmer Haupbdailss omdad
Geea. Grmell Cureflareihe <imded @msdprar. Guraflsr eaflasula
plHefld Gméfpner. Gewentt, seurrsr GemaumauamauhHld®d WTHES DimED

@ma&Sprer?
(A) CGrradl (B) Aeuppdlefl
(C) Curaflar (D) Siwrefléss wpryuwng

(E) ofenr Gsfweiavena
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106. One Rutherford is equal to

107.

(A)
(B)
©)
(D)
(E)

20
(A)

(B)
©)
D)
(E)

10® disintegrations per second
10 disintegrations per second

106 disintegrations per second
1 disintegrations per second
Answer not known

HBTe.CUMTH SiaTay eranugl ShssemubDieT aTan@F FDTETS ?

@ Qesanh Corsded 10° SHasasmeas Gasrhach sdHiluss
gun@ afletr oemey

am Gsseanh Cwrsded 107 Aegasames Gasrhegd sdfluss
Cummefler jemay

@m Gssen® Cpraded 10° Aasesmes CarhéEd sHiuss
Gunmeflen jeray

am Gessan® Corsded 1 SHAageasemad Csrhissbd sfflusss
Gummefler ieay

eflen Qg Mluwellcensy

Kessler syndrome refers to

(A)
(B)
(&)
(D)

(E)

Radio Frequency Interference in space

Light Pollution in space

Accumulation satellite fragments, spent rocket stages and
other discarded materials in space

Formation of Cirrus, Cumulus, Cumulo Nimbus clouds that
distracts the light penetration

Answer not known

Caevei S Crmb erariu(beug)

(A)
(B)
(©)

D)
(E)

eflan@euefluder ghu@Ed CryCur smaafleas GnassEE

efla@m@euefluiier ghupn qafl wrsUTH

aflagrcleuaflufled @aﬁ\'r_'r;gjmm Qewmens Carerser, rébs’ wHnbL @E7sé
sfleysarmed ghuBid allenera

Slima, Gpad, GuGa Hibud Curam Gustisarrd @M gaflulesr
sar(Bi(meuedler gHuBID eflanarey

aflen @gMwueiidana

79 CCSEI-IAP25
[Turn over



108. Assertion [A] : University students think more critically abou

the new subjects and situation they encounter.

Reason [R] : University professors encourage conceptual

learning and understanding of the new subject

concepts at the primary levels.

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is correct explanation of [A]
(C) [A] is false but [R] is true
(D) [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
sapm [A] yfwts  urikiser  wpmb  yHws @@;Hmm&mm
adliClaner@sd QUTE UDEMOESNS OIETEUITSHEN
eflwitsear fHwras §ndésdarpent.
sryewrd [R] : udsemassps’ Curmdfuisdr smsgert sHP WO
< rbu fleweule yHwt urLmismes smEHE FTiHS
yflkg CQarem® she sas@elédeament.
(A)  sapm [A] oM, gyemed smrammd [R] seum
(B) apm [A] ab smremd [R] v &f; wppw srremd [R] sapm [A] &8
gflwmen eflendsiomaib :
©)  spy [A] saup, smremd [R] &l
(D) &py [A] eyp smyewrd [R] b &fl, e smpamd [R] eréiug
sgapm [A] &5 sfuner elearésSdena
(E) oo Gsflueiidene
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109. Match the following and find out the correct sequence.

(a)

(b)
(c)

(d)

(A)
(B)
©)
D)
(E)

Abiotic component

Bagasse
Carcinogen
Carnivorous
@ ® @

1 2 3

2 3 4

3 1 4

4 1 2
Answer not known

1.

(d)

[ T o N Y =8

The crushed cane after extraction
of juice

Animals that feed on other animals
Non-living component in an eco
system

Toxic organic compound causing
cancer

Spsar_aupern Qurmsss whpb Cugib sflurer euflems papew srars.

(a)

(b)
()

(d)

(A)
(B)
(C)
(D)
(E)

2 Wlighm Gummer

H(HDLEF &G
smirafl Geanmggehr
eI ) T 6T
@ . by e
1 2 3
2 3 4
3 1 4
4 1 2
eflen Gzflwelcrene

15

(d)

W N = &

grmy 9A5C0sHEs 9UDE OprossLULL
&(HLDL

whp eleni@smen 2 aragnid 6flekiEser
Gdlwud warasded o der 2 ullghHp
gl

UhmCETeWw o &M TEEGD HESSE S0

SHe0eNGL
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110. Assertion [A] : Overloading of Nitrogen in the environment can

cause an imbalance to the natural nitrogen cycle.

Reason [R] : Nitrogen becomes a pollutant when it escapes into

the environment and reacts with other organic

compounds.
(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation of
[A]
(C) [A]is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
sapm [A] FHDIFE Sl enBLTEREn e <flsors | gopeus
Qupemswuner  eplggdr  spHAuld ghpssTbee
2 arL_n&@&S g
aryenrd [R] : Qs sHmEGROD sobg wLre s wrHl, wHn s&fos
Gernmisenser efenaryfdpg.
(&) [A] &, [R] seumy
(B) [A] wppp [R] @rewmw &f; wppd [R], [A] Apsrer sfwurer
ellard&Lom(g L
(C)  [A]l paugi, [R] &
(D) [A] wpgw [R] @raw@io &, eyarmed [R], [A]lfipsrer sfwunear eferésib
@éena
(E) oo Qsfuaideme

CCSEL-IAP25 82 B



111. Which of the following caused by earthquake?
(1) Lightning
(1) Landslide
(1i1)) Thundering
(iv) Tsunami
(v) Floods
(A) (i), (iv) and (v)
(B) (1), (i1) and (i)
(C) (i) only
(D) (ii) and (v)

(E) Answer not known

Gebreumeuameupbled LsbLSsTD gHUBLME eTen6u ?

(1) Heweed
(i) Hassfey
i) @

(iv) semd

(v) Geudrerd

(A) (1), (iv) whgid (V)
(B) (1), (1) wpgud (111)
(C) @) wiEw

D) () wppd (v)

(E) oflen Qsflweidreney

B 83 CCSEI-IAP25
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112. Match the following :
Column I
(Waste Disposal Method)

(a) Sanitary landfills
(b) Incineration

(c) Pulverizing

(d) Pyrolysis

(@ ® (o (d)
(A) 2 1 3 4
(B) 2 1 4 3
(C) 1 2 3 4
D) 4 3 2 1
(E) Answer not known

Epsam_cuperpls QUT(bSEs
Qpheufiens I

(sfla) sisppéd wparp)

(a) Hamoss e Aruyse

(b) afiggd

(c) ST @ g6
(d) Qawusfese

@ () (o (d)
A 2 1 3 4
B) 2 1 4 3
C) 1 2 3 4
(D) 4 3 2 1
(E) &fleo QsfAweldrena

CCSEI-IAP25
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Column II
(Process)
Burning of waste

Deposit the refuse and
compost it with bulldozers

Combustion in absence of
oxygen

Spreading the waste on fields.

Qp@eufans 11

(Qawe aperm)

siflagenar eTilse

wossLULL sPleisdr wHmIb 2 b
gdlwer @updmd pped Callssd
2 &élgen Gdamoed efgsd

siflajsenar Hlenisafld
urtnSed Hae



India.
(1) Evergreen forest

(2) Monsoon forest —

(3) Tropical forest —
(A) (1) only

(B) (1) and (3) only

(C) (2) only

(D) (2) and (3) only

(E) Answer not known

113. Choose the incorrect answer of forest types and their species in

Rose wood, Toon, Ebony, Gurjan

Silver fir, Walnut, Deodar,
White Willow

Chir, Blue Pine, Spruce, Cypress

@pHwuneie 2 arer cuan cuensser wHMID SeupPlan @entiser LHHlw Feupmar

uleneg Caire| Qewiweyib.
(1) usenw wrprd & —

(2) u@euwenps s —

(3) ywsHw Crews srlser  —
(A)
(B)
(€)
(D)
(E)

(1) wi @b

(1) whmid (3) w B
(2) b @b
(2) whmd (3) wL ({Hb

eflen Qgflwelldena
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Grrevey, @ebr, &mrusmedl, @ Taen

Qeuerafl i, eumepl, Caaugm(m,
Qeuerener aflebGavm

Fir, Liam enuer, eulienen, engliren

CCSEI-IAP25
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114. Consider the statements on monsoon and choose the right answer

(1)

(11)

(i)

(A)
(B)
©)
(D)
(E)

Most monsoon rainfall is caused by the depression over
Arabian Sea and Bay of Bengal.

The amount of rainfall increases with increasing distance from
the sea shore.

The eastern coastal area of Tamil Nadu remains dry during
South West monsoon.

(1) is true

(1) and (iii) are true
(i1) and (iii) are true
(1) and (11) are true

Answer not known

bmeussTH LpHlu sppsefie sfluraahan Csibds :

@

(i)

(111)

(A)
(B)
(©)
(D)
(E)

SCriu sLé wppd eunmsrer eflfigLrele oder sTHDWSEs SThey
Plevawasarmed QumbLrerar Lmauweaw Gunidng.

sLGamrgdle @mps smb sfsflsed Curg wenpuier sierayn
S sMs8ng).

GsarGuohE umeawaplar Gurg sllpssdear Hpss sLCGorrl ued
eupeiTGL SmemrLiL(Bib.

(1) eflwmeng

(1) wpmd (1ii) sfwrerenau

(11) whHmbd (111) sfwreareneu

(1) wpmb (11) sflwrearena

allen GAsMwefcrency
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115. Match the following type :

Match correctly the Nationalist Papers and its Authors :

(a) Subramaniya Bharathi

(b) Mrs. Annie Besant
(¢) G. Subramanya lyer
(d) P. Anandacharlu

(A)
(B)
(©)
(D)

(E)

sflwreneupenpls QUTHSSES

(a)

1
3
3
2

Answer not known

(b)

3
1
4
1

(c)

2
4
1
4

(d)

LW M B

1
2.
3.
4

Swadesamithran
Madras Mahajana Sabha
India

New India

Casflw prefisd oiser yffuery Gurmsss.

(a) s0Qpwentiw urgSwmi
(b) Mrs. syeneil@uaai_
(¢) G.sulQywesflu gui
(d) P. myanpssrig

(A)
(B)
©)
D)
(E)

(a)

1
3
3
2

eflen Qgflwelidrena

(b)

3
1
4
1

(c)

2
4
1
4

(d)

W NN e

87

e

&G g0l sd e
Qeemenar WETMET FLIT
@pHwn

ydw @pHuwin

CCSEI-IAP25
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116. Match the following :
(a) Home Rule Movement
(b) Kudi Arasu Annie Besant

1 S. Ambujammal
2

() Women's Swadeshi League 3.  Muthulakshmi Reddy
4

(d) Abolition of Devadasi system E.V. Ramasamy

@ b @© @

A) 2 4 1 3
(B) 3 4 2 1
© 4 3 1 2
(D) 3 2 1 4

(E) Answer not known

Spdsraruaipenls AUrmsss :

(a) swr é Qussd 1. S, subygm ibomer
(b) Gywys 2. sanafl Quaen
() Quansdr &Csf srisib 3. (s sll Qriy
(d) Cseusnéd wep g 4.  w.Qeu. gmosmd

@ ® @© @
A) 2 THAE
(B) 3 4 2
(C) 4 3 1
D) 3 g i
(E) oflen Ggflweiidena

= b = W
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117. Arrange the Conquests of Iltutmish in Chronological order :

118.

(1)
(2)
(3
(4
(A)
(€)
(E)

Bengal

Bilsa Fort
Gwalior
Ranthambhor

(1), (2), (3), (4) (B) (1), (3), (4), (2)
(4), (1), 3), (2) D) @), 3), (2), (1)

Answer not known

@ Qleg-er Geuphlaanerd sraweflensiu(Bsss.

(1)
(2)
(3)
(4)
(A)

(©
(E)

GUMISTETLD
Qevar CamenL_
@eumedluwiir
pmeigLbGumT

(1), (2), (3), (4) (B) (1), (3), (4), (2)
4, (1), 3), 2) D) (4), 3), (), (1)
el @gflwelldene

Which of the following statements are true about the Houses at
Mohenjo-daro?

(1)

(i1)
(111)
(A)
(&)
(E)

It was discovered in Montgomery District of Punjab.
Mohenjo-daro the houses were made of Kiln-burnt bricks.
Kiln-burnt bricks in large quantities were used for drains.
(1) and (iii) only (B) (1) only

(i1) and (iii) only (D) (11) only

Answer not known

QuraneresnCrrefigudrer eaifaemery updlu  demaumbd smpmiseiedr  erg

o _GuTenLD 7

(1)

(i1)
(iii)
(A)
(C)
(E)

@& u@ssmien wrer’ GanGlofl wreul Lsdld semBilsaiiuLg).
GuranesestGrreild eifiadr &1L Qehishasearmed Dy arene.
&L Qemshadt Hs Serelld eugsTOsEREET LWETUHGS UL L 6.

(1) oy (111) w @b (B) (1) wi@ib
(1) whgbd (ii1) v G (D) (11) wr_@w
aflen Gsflweierena
89 CCSEI-IAP25
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119. Pick out the incorrectly paired from the following :

(1) Smoke and Ashes : Opium’s — Amitav Ghosh
Hidden Histories

(2) The Golden Road - William Dalrymple

(3) Twilight Prisoners : - Minakshi Dewan

The Rise of the Hindu Right
and the Decline of India

(4) The Final Farewell : = Siddhartha Deb
Understanding the Last
Rites and Rituals of India’s

Major Faiths
(A) (1) and (4) are incorrect (B) (1) and (2) are incorrect
(C) (2) and (3) are incorrect (P) (3) and (4) are incorrect

(E) Answer not known

EpQasrRssiLLauhflamhg seunts @aanssliul L oss CaihdsHéseb:

(1) sCwrs e’ a6 = Sflgeu Camey
@ulGwuibey abler ablevl fe

(2) & Casraren Cym® - aflébeSld CLevfbiGé

(3) Ceflenenr Gflevenien : - Berréd Heumedr

& arev U 5 Qbs @y
ST § igdenaTer 2l @BHuim
(4) s euad SHLQUUIGeE : - Sagniss Coil
2jen_revGLeinigm & emravl M e
e’ Méseuden 2 Ghduwimen
Gm&ﬁ- ."a@uu'.lgﬁ‘fu
A) Q) wpgw (4) geprareey (B) (1) wppw (2) gauprarena
C) (@) vppw (3) sauprarene (D) (3) whgid (4) seuprarencu
(B) el Gsfwelldene
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120. Reason and Assertion type :

Assertion [A] : In 1946, the Muslim League withdrew its

acceptance to the Cabinet Mission Plan.

Reason [R] : The Muslim League joined the interim

(A)

(B)

(©)
(D)

E)

government formed in 1946.
Both [A] and [R] are true and [R] is the correct explanation
of [A]
Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

[A] is true, but [R] is false
[A] is false, but [R] is true

Answer not known

snyewtd wHOID elynSsH s :

adlypsse [A] 1 1946Qd @pevdiib 6 emwésTeneaid SHSGWP TODIS

Qararm_eng elwsdls Carem_g).

smyenrd [R] 1 1946@¢ @ewEsLULL  @@LESETR  TETRESSHD

(A)

(B)

(©)
(D)
(E)

peveild ei& QenenTHsEl.

[A] wpmib [R] @rem@w &l wpgd [R] eranug [A] psmen sflwmer
eflargasih '
[A] wpmw [R] @renGn efl ema [R] aerug [A] dpsrar sflurer
eflendaib e

[A] M, syenmed [R] seum

[A] seum, <eméd [R] &M

clen Ggfwelldena
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121. Assertion [A] : DMK played a leading role in the Anti-Hindi

campaign.
Reason [R] : It urged people to write under the Tamil identity.
(A) [A] is true, but [R] is false
(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A]
(C) [A] s false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]
(E) Answer not known
sapm [Al A @pd afiougyn  Gumprii s  apsdlwnner
URQEPEss Qsrar g,
smyenrd [R] t Aps.  wesmars  sBlph @)  B@LWTETSESTD
gendleeanu capLpsdug.
(A)  [A] ofl, syemed [R] seumy
(B) [A] wpgid [R] s, Guogib [R] @er eflerdasin [Al & eflwneng
(C) [A] saug, [R] &
(D) [A] wpgyd [R] &, spammed [R] Gein eflenssiv [A] &@ sauprans
(E) <o Qsflueidena
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122. On 24t September 1932, Poona pact was signed between

(A) Gandhi— Irwin

(B) Gandhi— Jinnah

(C) Gandhi — Ambedkar

(D) Gandhi— Ramsay Mac Donald
(E) Answer not known

1932 b pen®  Qeuibuf 24 G yerm  @uUUBSSSlM
enaGwriul L euirser.

(A)  smpd — @feller

(B) snmpd — geramm

(C) &b — bCussi

(D) smpd - grbCs Gw&GLmarei

(E) efen Gsflweiidene

123. Choose the right matches :

(1) Ferosha Metha — Disciple of Gokhale

(2) Gopala Krishna Gokhale — Servants of India Society
(3) Dadabhai Naoroji — Drain Theory

(4) S.N. Banerjee - Safety Valve Theory

(A) (2) and (3) are correct (B) (1) and (2) are correct

(C) (2) and (4) are correct (D) (3) and (4) are correct

(E) Answer not known
shlwrer Qummsshsmer CaihdshHds :

(1) QCyragr Cussm — CaraGaullen &_an

(2) Gamure Smepenr GanaGe - @pHw safluirsefler shshd
(3) smgmumi AperGrmg) — Qs Glardrans

(4) S.N. unanirgd — urgismiy eagsp Camium@
(A)  (2) wppud (3) & B) (1) wpgid (2) &f

(C) (2) wpmbd (4) &M (D) (3) wppb (4) &

(E) efen Gsflwellidena

B 93 CCSELIAP25
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124. Match correctly the Excavated materials with their corresponding
Excavation place :

(a) Shell Bangles 1. Azhagankulam
(b) Ring Well 2. Thulukkarpatti
(¢) Roman Coins 3. Kezhadi

(d) Silver Stamps 4. Vembakottai

@ m (@ (@

A) 2 1 3 4
(B) 4 3 1 2
(C) 3 2 1 4
M) 1 4 2 3

(E) Answer not known

Sisprieie deL sz Qurmlameanyb, Ssprie; QelwtiLlL @)L Sosub

Qurpsss.

(a) &G auenerwidser 1. spseageand

(b) 2.ep Hermy 2. gSsETULIg

() QGymb prewrwuriser 3. &

(d) Qeusrefl =yss 4. Qeubuslsm e

@ @® (e (@

A) 2 fo ! vod 4
(B) 4 AR | 2
(C) 3 e 4
D) 1 4 2 3

(E) &flerr Gaflwaiidena
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125. Reason and Assertion type :

Assertion [A] : Muhammad Ghur attacked the Fortress of

Tabarhind, a strategic point for the Chauhans of
Ajmer.

Reason [R] :  The Ruler of Ajmer Prithvi Raj Chauhan marched

(A)
(B)

©)
(D)

(E)

to Tabarhinda and faced the invader in the first
Battle of Tarain (1191)
[A] is true, but [R] is false
Both [A] and [R] are true, and [R] is the correct explanation
of [A]
[A] is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation
of [A], [A] only 1s correct

Answer not known

snyenrd WwHnb smbhn euens :

sapm [Al . @B QecrapransEné® @@ pGarumu  ewwnns

Rmps suradbst Carl e aw pswg Garfl grédler.

gryenrid [R] : o@lbfiar g Awurert GOfsed  grgy  QEeramme

(A)
(B)

(C)
(D)

(E)

suirablam_relh@ aflau@sasé CQsarm psd M6
Gunflé (1191) v QuELureaTeny erdlit QaEmarLrmir.
[A] 5l ageme [R] soup

[A] wppp [R] @rean@n e earew. Gogibd [R] aearug [A] ér sflwmer
efleTdaid

[A] seum spemmed [R] &
[A] wogo [R] @rean@d &fl, gemed [R] aeug [A] e sflwner
clerséswae [A] L@ &

eflenL Glgflwellcene
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126. Which of the following pairs are correctly matched?

|

(A)
(B)
(C)
D)
(E)

Right to Privacy

Passive Euthanesia
Right to Vote

NOTA in Elections

1 and 3 are correct
1 and 2 are correct
2 and 3 are correct
3 and 4 are correct
Answer not known

Justice K.S. Puttaswamy Rtd.
Vs. Union of India

Common cause (Regd. Society)
Vs. Union of India

Ministry of Defence Vs. Babita
Puniya

Swapnil Tripathi Vs. Supreme
Court of India

Slereumd Genexrseiienr erg sflwing Qurmplujereng 2

1.  epsrms o flew

2.  Qewapp smeens@dstaa

3.  eunssaflsgn 2 Menwo

4. GCargoseid GpmLm

(A) 1 wpmb 3 &

B) 1 wvopgn 2 &M

(C) 2 wpgid 3 &

(D) 3 whgbd 4 &

(E) e&fler Qsflwelérena
CCSEI-IAP25
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gevigev Ca.gr. ylLembl (@uiey)
Vs. @sdw gerdluib

smoer  &mev  (ufleys i)
Vs. @bdwu gendluin

UTHSTIL st Vs, ubsn
Lpetlwim

eveuiafles Aflurdl Vs, @ndHw
2 &&bdlnemmib



127. With reference to the functional items placed within the purview of
municipalities, consider the following.

(1) Regulation of slaughter houses and tanneries

(i1) Safeguarding the interests of weaker sections of society
(111) Small-scale industries, including food processing industries
(iv) Technical training and vocational education.

Which of the above is/are correct statements?
(A) (1) and (iv) are correct

(B) (11), (111) and (1v) are correct

(C) (1), (111) and (iv) are correct

(D) (1) and (i1) are correct

(E) Answer not known

payT._Asaflel ardamasE@Gar eaudsliulHater QeuduT G SeaLiL|EHearT
Qurpsseueny, eremeauaraihans smsHld Camens.

(1) @eopsdls saLmsdar wHmb Csréd usellb QAsmfbsreasamear
PWHGUOS55D

(1) sepssden Leaianorer Wfelen paE@aT LTHETSEHH

(111) 2 ewrey LsLILRSGL Qemildsdr o dralll L &gy eralewrear Qgmfdsdr

(v) GAsmfleom u DS whopibd AgmPhsdel

Cupésam _ecupmier ergl/ereney sflwnarena ?

(A) (1) wpmid (iv) sflurareneu

(B) (i), (iii) wpmb (v) sfwuraree

(C) (1), (iii) wppbd (v) sflwreree

D) Q) wpgd (i1) sflwrerena

(E) oflen Gsflwaiidena

|3 97 CCSEI-IAP25
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128. The Union Executive consists of the

1. Council of Ministers
2. President of India
3. Central Secretariat
4. Vice President

Choose the correct answer by using the code given below :

(A) 1only (B) 1 and 2 only
(C) 1,2and 4 only (D) 1, 2, 3 and 4 only
(E) Answer not known

wéHu Qewem & gepulear uGHurs @ mLiLg

1. sewsstoa W

2. Blpurs smeeui

3. wsfu Qeuwsd

4. GRUTE HneT Fenweu

Epssrand afl@sawuls vwauBsd sflurer sl amwus Carbshss
(A) 1w @b (B) 1 wpgd 2 wl@Gib

(C) 1,2 whmb 4 wL @b (D) 1, 2, 3 whmd 4 WL Gib
(E) &feo Qsflweidena

129. What is the definition of a child under the POCSO Act?

(A) Below 14 years of age (B) Below 16 years of age
(C) Below 18 years of age (D) Below 21 years of age
(E) Answer not known

POCSO s Lsdler &b am Guhaosuien cuammuen eree?

(A) 14 awwdip@ e Ul L aifsar (B) 16 cuwgli oLl L eufiser
(C) 18 awwdlipg 2L Ul L auirgar (D) 21 aiwdihe e vl Leuiser
(E) &flen Qsfluelidens
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130. Assertion [A] : Every Citizen shall have the right to move freely

throughout the Territory of India or to reside and
settle in any part of the country.

Reason [R] . This Right shall be subject to restrictions imposed

by the state in the interests of the general public
or for the protection of the interests of any

Scheduled Caste.
(A) [A] is true but [R] is false
(B) Both [A] and [R] are true and [R] is the correct explanation
of [A]
(C) [A] is false [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct
explanation of [A] is correct
(E) Answer not known
sahm [A] D aBs @ Ghus@sEh, @bdwreler HalLEule
sapdyons Gedaaib, SOF GULTeyd, aélssayb
o fleno 2 awr(®.
sryeid [R] : @5 ofevwurars, Quuarfiurer GQurg wésafler
pevar smAw, ahs sTpssuLCGLrflér poer smHluyw
2iye lfé@n Hubsamen (UTUMDEEHSSE) 2L LILL G
(&) [A] 5. syema> [R] seup
(B) [A] wpgod [R] @rem@d &fl; Cogub [R] [A] e sflurer eflerésd
G0
© [Al sap [R] &f
D) [A] wppw [R] @ren@n sf; wame [R] [A] e sflurar eflerésn
S eremLg &l
(E) &fen Gsflweicene

99 CCSEI-IAP25
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131. Which of the following statements is incorrect about India’s Act

East Policy?

(A) This policy promotes proactive diplomacy with political and
military intervention to curb insurgency in the Asia-Pacific
region

(B) This policy was originally conceived as an economic initiative

(C) This policy focuses on the extend neighbourhood in
Asia-Pacific region

(D) This policy promotes enhanced connectivity to Asia-Pacific
region through North-Eastern Region

(E) Answer not known

Sereumd sappsaile @pHunedar fpseE Corsdu Qsraaster seuprer

PADIGLD

A) =fu uvdbs Dmpdusde Harisfleow s HUESS Tdud WLHDIL
GQrrgnies sealiler  Qstar.  wpargpupd  Trpspirsens
oard &6l &4 g

(B) Qummernsmy wearpupduns smsiur g

C) <fu vAGs Gmpdusded eder ubs sHDUUDPSHD seueTd
QegisSug

D) <fu vdbs rpdusder Cobu@sslur L @eenty amulons
aL lpse drmidusde Geaantiau CubLiGsSLg

(E) eflen Qsfluedane
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132. The objective of the National Human Rights Commission are :

(i) To strengthen the institutional arrangements through which
human rights issues could be addressed in their entirety in a
more focussed manner

(i1) To look into allegations of excesses, independently of the
government

(1) To contrast and strengthen the efforts that have already been
made in this direction.

(A) (i), (ii) and (iii) are correct

(B) (11) and (i11) are correct

(C) (1) and (11) are correct

(D) (1), (11) and (111) are incorrect

(E) Answer not known

Caflu weflls o Menvsear Lymamugden Crrésnser :

(1) welly o fewvsdr Gréflaasmear (PU®LWTSS @SWTETS daigul Hlpeie
ghurhsmer eugliLbhsise

(1) sgeriissass sTymod, HslUGUTET GDDEFTL HSENET B TTLISH

(iil) @ps FHeoake ghsaGas CupGardreriiul erer  puphdlaemer
CauguBsd cugiliLiBdsise

(A) (), (11) wHmb (111) &M

(B) (i1) whmb (1i1) &

(C) (@) wpgb (11) &

D) (), (i) wppid (iii) sap

(E) &llen Qsflwelidwvens

B 101 CCSEI-IAP25
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133. Match the following (Women Empowerment)

Name of the Act Enacted Year
(a) Medical Termination of Pregnancy Act 1. 2013
(b) National Food Security Act 2. 2016
(c) Rights of persons with Disabilities Act S 3
(d) Mental Health Care Act 4. 1971
@ ® @@ @
(A) 1 2 3 4
(B) 4 1 2 3
(C) 2 3 1 4
(D) 3 fintn 1
(E) Answer not known
Spsam_eupenp Qunmsgs (QuanseEnsE idasrroelggd)
sl _gdler Guwi @upniiuc L e
(a) wmsseliLGUTET SHbsmaLUIL] F L Lb 1. 2013
(b) Csflw e emrey LngsTLIL FULLD 2. 2016
(c) wrpndopeue Cuniésrear 2 Mawaer L tb 3. 2017
(d) werpe urmofiy sLb 4. 1971
@) () (© -
A 1 2 3 4
(B) 4 1 2 3
{C) 2 3 1 4
(D) 3 4T 1
(E) e&ler Qsfwueideame
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134. Which of the following is correctly pair/pairs?

L

2.
3.
4.

(A)

(B)
(©)
D)
(E)

Fifth Law Commission

Tenth Law Commission
Nineteenth Law Commission

Twentieth Law Commission
1and 4

1 and 2
2 and 3
3 and 4

Answer not known

K.V.K. Sundaram

Justice K. K. Mathew
Justice M. Jagannadha Rao
B.S. Chauhan

Yesreumeuaeubbled erg)/ereneu sfluirer @lenewT/@)enenTaer ?

E

(A)

(B)
(©)
(D)

(E)

BSOS FLL HEeRTUILD
USSTEUS| FL L Bi,6neRTILILD
LSESTETUSTD FIL BY,eneRTuiLD
@puUsTEUS FLL Y enemTiLD

1 whmib 4

1 wpgib 2

2 wpmib 3

3 whHmid 4

eflep Ggfwellcrens
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Cs.al.Cs. shgTd
fHwger. Cs.Cs. Guswy
BHwigsr.erib. gaenanTs yrEy

9. erev. GlFarsmen
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135. Assertion [A] : Art. 121 prohibits any discussion in parliament

with respect to the conduct of any Judge of the
Supreme Court or of a High Court in the
discharge of his duties.

Reason [R] : The objective of Art. 121 is to ensure the

(A)
(B)
(©)
(D)

(E)

independence and dignity of the Judiciary.

[A] is true but [R] is false
Both [A] and [R] are true; and [R] is correct explanation of [A]
[A] is false; [R] is true

Both [A] and [R] are true, but [R] is not the correct
explanation of [A] is correct

Answer not known

aapm [A] » srgeollar Gfley 121 eyearg e sapdambd sdag

e wipdlwenp BHudsear FHo vesllurppdlan Cung
Sjeuigaflen BLSNSE G LIT(@RLDET LD
afleurgliueng sen Celdlmg).

snyemrd [R] . Gfley 121-en Cpréswrang pdsmepuiar sspdrb

(A)
(B)

(&)
(D)

(E)

wopid saveflusmns o md QaliugsTEb.
smpm [A] &Ml eme smeend [R] seug
sapm [A] wppd smyand [R] @ran@in sf; Cugd smemd [R] sapm

[Alssrer sflwner cfletdsib
sapm [A] seugy srremd [R] &l

sapm [A] wpgnd smyerd [R] @ran@uw of; syenéd smeard [R] sapp
[Alésren sflurer eflendan side earug) &fl

aflen GQgMwelldene
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136. Assertion [A] : Parliament has exclusive power to make any law

with respect to any matter not enumerated in the

concurrent list or state list

Reason [R] :  VIII schedule of the constitution contains union

list, state list and concurrent list

(A) [A] is true, but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation of [A]
(C) [A] is false but [R] is true
(D) Both [A] and [R] are true; but [R] is not the correct
explanation of [A]
(E) Answer not known
smpm [A] Qumgiulgwed wHmb wrflon ulgud dwuabbla
FapUULTES @earmhsdr GFTLiurs L @uOmb W
sifargsdener LnymEsemDD 6l medr (B eTers)
smyewrid [R] : gsewlGer VII-eug <o eman, widu uliguied,
wrile ulgwed whmpb Curguulgud dHueubeann
Carer(Harerg
(A) [A] &fl, gyemréd [R] seup
(B) [A] wpgw [R] @ranpw sf; Coeb [R] edug [Alss eflwrer
elilenéaib.
(©) [A] sy, apemé [R] &M
(D) [A] wpg [R] @rean@w &f; e [R] earug [A] -&@ sflwrer
eflerdanee
(E) &fleo Qsflweiicena
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137. Match the Article :

(a)
(b)
(c)
(d)

(A)
(B)
(C)
(D)
(E)

Audit and Accounts of Panchayats
Reservation of seats

Elections to the Panchayats
Gram Sabha

@ md (@ (@

2 3 4 1
3 4 2 1
2 1 4 3
4 2 1 3

Answer not known

sl eflflseneris Gummsss.

(a) sefllsams whpb sewssE LEeTLsS 08

(b) @ @580 OsTiiyeLw ugsTwuss 694

(c)

UErsTwEES Caigad Gﬁ]lé’,l

(d) &gro sevus eflf

(A)
(B)
(©)
(D)

(E)

(@ b @ (@

3 1
4 2
1 4
2 1

W= B W b
Lo LI =

ellen Ggfweildene
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138. The False statements about the Legislative powers of the President
are

(i) The Punchhi Commission has recommended that whenever any
state bill is sent to the President for his assent under Article
201, he should give his assent within a period of fifteen days.

(i) Article 111 of the constitution gives details regarding the
President’s role in the law making.

(111) The President is given the right to promulgate ordinances
under Article 123.

(A) () only

(B) (1) and (i11) only
(C) () and (11) only

(D) (ii) and (iii) only
(E) Answer not known

@ifwus Guurss soeeafar siLllupmb oFsmmd GHss seupmer
sahmseTTang

(1) @ewoiy L egiy 201-Qdér S, abs em wrhlosdar sL
ereuenyLb  erl@unplgaend @Guures soeeaflar  QULISUES
S@UuiuBEpGaer SnGumrg eademd 15 prisEnsGer  Bieul
SisHEG&S Far @uUUsme apns Gouar(b erer  LEhEF < eneRruib
ulbgiersss

(1) wpsewul@ear sl oguy 111 ey, siLdBuppde Ggurss
seneaifler Lmienss Lgefleura HodeE euphi@HDg).

(111) wpeenotiy sl ey 123 Qe £, GRWIEH FOOLUMEE HHeuUE]
Bavew Grs_ardenss WApinlss oflarmn Qer@Hssemeng.

(A) (@) wi@Ewb

(B) () womib (iii) wi_ @b

©) ) wppd (1) w G

D) (i1) whmw (ii1) LLEW

(E) e&ferr Qsflweilevena

B 107 CCSEIIAP25
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139. Match the following :

(a) dJustice should not be denied 1. Article 42
to anyone based on the grounds
of Economic (or) financial setbacks

(b) Establishment of Gram Panchayat 2. Article 43
by providing needful powers to
these self governing units

(¢) Favorable, Humanitariate 3. Article 39 A
situation to work and to provide
maternity benefits to women

(d) To ensure work, pay, favourable 4. Article 40
climate to Agricultural (or)
Skillful Labourers

(@ @ (& id
(A) 4 3 2 1
B) 1 8 g 4
(C) 3 4 1 2
(D) 2 3 4 1
(E) Answer not known

sHlwremsupenp GQuUmmSgs

(a) Qurmermgry sdeg HE @ueren 1. emiiy 42
STTEMTIONG eSS &L HS
DMISSLILIL_GUITETS| 6TeLIS)

(b) &gmo uEgssTLSHIEs@ear FHLBSS Cauar®d, 2. 2 gy 43
DIENGU &L t'_gluﬁ}ei'r B G (HHEGETITH
Qa:u_ldml_g ENGUILITET Bi&HIETTLD
auprislILL. Galem{ib erarLg
(c) ueflyfeuspsrer Hwnwiorer wHDD 3. omuy39A
weflg @rssllés %Qﬁmmﬁm ©_(heUTEHSILIL
Geuatr(pib whHmib GumisTe 2 Fefl
auprisLuL. Geaiarm(hib eTemLg
(d) Ceauarmair seveg Qamfloss 4. 2 muy 40
QgmflererisEnsE GCelene, aumpapfwib,
e alMps&mssd STSns s SIelee
uenflyfluyb @Gpd o md GauwuGadarHib erarug
@ ® @@ @
(A) 4 3 2 1
(B) 1 3 2 4
C) 3 4 1 2
(D) 2 3 4 1
(E) eflen Qaflwellcvency
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140. Which of the following statements is true about Article 21?

(i) This article reminds us of one of the famous clauses in Magna

Carta.

(ii) The constitution does not confer right to die.

(iii) Custodial death is perhaps one of the worst crimes in a civilized

(A)
(B)
(&)
D)
(E)

society governed by Administrative Law.

(1) only

(1) and (ii) only
(i) and (111) only
(ii) and (ii1) only

Answer not known

srflueeninder 9fa) 21 g up Geraimd Fmbmiseic g o @rmenio?

@

(i1)
(iii)

(A)
(B)
(C)
(D)
(E)

warsneasdd oeter o @faysefie yspOudp gearep @bs Yfley
& Haeray HEDS.

Sirflweenliy L @pné@w 2 faweaw aupriseiame.

Breunss 6L gmed eriu@b prsflss spgrusdlad sreud wremd
H& Curswrar @hphisaid eTpmESLD.

(1) @b

(i) whmid (i) we Gb
(i) wppid (ifi) weGid
(ii) wppid (i) wEb
eflen QgMwelldane
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141. Read the following Assertion [A] and Reason [R] and find the correct

answer :

Assertion [A] :

Reason [R] :

Considering apart from, citizenship among in India,
there are two types of Aliens, Friendly Aliens and
Enemy Aliens.

The citizens of enemy Aliens also enjoys protection
against arrest and detention under Article 22.

(A) [A] and [R] are correct; [R] is the correct explanation of [A]

(B) [A] and [R] are correct; [R] is not correct explanation of [A]
(C) [A] is correct; [R] is false

(D) [R] is correct; [A] is false

(E) Answer not known

sapm [A] smpewrd [R] euenas eflann, sflwnen e ew Caib0sHés :

sapm [A

srrewd [R]

@pdunelled Gms@n Guuflavsmanyd sLbg UNTEEb
Qurpgl, LY euens senaflwiser, erdlfl euens yearafluiser
erer @rer(p) euanaulant @) madlenmeni,

adfl amsiulL weafluiadr srasaidr GgisERsE,
Srgenol] UL 2 22-ér &b osgsE adirseb,
sOUY smeugid@ erdlrmsalb ungsmieu Gunderper.

(A [A] wpgpo [R] eep @ranen sfl; [R] eaug [A] &g sflurer
efleréaLom@id

(B) [A] vpgo [R] cap @ran@d sf; [R] eerug [A] b sfuren

aflerédsineber

(C) [A] aerug &, [R] ererugy seumy

(D) [R] ererugy &M, [A] ererug seum
(E) oo QsfMweiicdrena

CCSEI-IAP25
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142. Match the following parts of the Indian Constitution with their
corresponding subject-matter.

(a) Part XIV

(b) Part XV

(¢) Part XVIII

(d) Part XX

(a (b
(A) 3 1
B) 2 4
(C) 4 2
D) 1 4

(E) Answer not known

(c)

4
1
1
3

1.
2.
3.

(d)

B W W D

Elections
Amendment of the Constitution
Services under the Union and States

Emergency provisions

Epssar. Qbdu srFmwlfer uGdsmer seubdlen giemen @ LimmesL 6T

QummHESE

@) usd XIV

b) ued XV

© ued XVIII

d) usd XX

(a)
A) 3
(B) 2
C) 4
D) 1

(b)

1

4
2

4
(E) &fer Gsflweldena

(c)

4
1
1
3

(d)

D W W

Caizdaar
2{TFemioliL] &L S(mSsb
wsHw whHnib wrblely uerfladr

GCmmEsy Bleve sibsmiser

111 CCSEI-IAP25
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143. “Co-operative Societies” gave a constitutional status under

(A) Article 243 — ZH to 243 — ZT
(B) Article 243 — PH to 243 — ZA
(C) Article 243 — NH to 243 — ZH
(D) Article 243 — HZ to 243 — ZH
(E) Answer not known

“‘enl_(Ppa FRshSERES BBs sirsenwliy Gileder &p rflueabiy s
QULpRIGLILIL (hHeTerg)

(A) ersg 243 —ZH to 243 — ZT
(B) &75s 243 — PH to 243 — ZA
(C) eyssm 243 — NH to 243 — ZH
(D) egsm 243 — HZ to 243 — ZH
(E) e&fer Gsflwefdena

144. Match the List I with List II :

(a) Jal Jeevan Mission 1. 2014

(b) Beti Bachao Betipadhao 2. 2019

(¢) Swachh Bharat Abhiyan 3. 1996

(d) National Social Assistance Programme 4. 2015
@ ) {©@ . M

(A) 2 4 1 3

(B) 2 1 3 4

©) 1 S 4

(D) 4 g 7 Cig 1

(E) Answer not known

utgwed I urgwe IT 2. dr Qurmsgs

(a) Gyubt euprised S ib 1. 2014

(b) weemers srLuTh WeMET LIKES @eu S L b 2. 2019

(c) gnuenw @hHwr S Lib 3. 1996

(d) Csélw seps o gails S b 4. 2015

. S i R ()
A) 2 4 1 3
(B) 2 1 3 4
(C) 1 2 3 4
D) 4 3 2 1
(E) oo Qaeflwelcrena
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145. Consider the following statements about Women Helpline. Which

among the following statement is incorrect?

(A)

(B)

©

(D)

(E)

Provide toll-free 24 hours telecom service to women affected by

conflicts seeking support and information

Facilitate crisis and non-crisis intervention through referral to

the appropriate agencies

Provide information about appropriate support services,
government schemes available to the women affected by

violence

Provide integrated support and assistance to women affected

by violence in public spaces only

Answer not known

Queamadr e gefl erar upHlw DerauHb smbhnismars srams. Senemeaiamabhle

org Fflwransde ?

(A)

(B)

(C)

(D)

(E)

pramu@eugne, urfdstulL  QueaTsERsE STy  WLHDID
saaudameas Csb 24 vaflCpr siLembloar Gzraans Qzmiy
Crancueni auLprIESe

Gunmgswrer fipeuartis@nse Lufibgeariuger ppad CBHESY. WHDHID
QBméEsg Do sgamauil e eaflgsnsEGsd

aerwpepurd urfssuul L Quargné@s ders@h Cummsswrear
576 Csameusdr, Siras S Lmsdr upHlu seeudsmer cuPmIGSW '
GQurg @Lrsefle wi@Eb aeargppepured urddéstuull uaTsEnés
@madmants wsTe| WHHID e geilanw aupki@sea

aleo Gsfwelldene
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146. What are the objectives of public distribution system?
(1) It is based on income status
(1) It focuses on the families of Military Personnel

(i11) It ensures by making available essential commodities of good
quality at affordable Prices every month

(A) (i) and (ii) only (B) (ii) only
(C) (i) and (iii) only (D) (ii1) only
(E) Answer not known

Cung eAfIGurs wanpullenr Crnéshsdr ererer ?
1) @& emorear foeulsr sigliuamL o semwbgereng
(i) @a rremieu eiyisefien GEHLURSMET @WLWLLNEE Qasrrm@mmg

(1) @& gaGeaurg wrsepb wdley eaauld Hho srorer g
Curmersamers el sas Galiager o e nf Qsidng

(A) () oppw (1) L@ (B) (i1) o @

(C) (1) whpbd (1i1) w b (D) (iii) wr @b

(E) e Qsflueiaoena

147. The amount given under the Dr. Muthulakshmi Reddy Maternity
Benefit Scheme has been increased since 2018 to Rs.

(A) 18,000/- (B) 24,000/-
(C) 12,000/- (D) 32,000/-
(E) Answer not known

wmsgieut apsgiolssl Ariy wsuGuy posHlLsHadp 2018 apse
2 wirgslul (herer 2 geild Csrans emumi -

(A) 18,000/- (B) 24,000/-

(C) 12,000/- (D) 32,000/-

(E) &l Gafluslieme
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148. Match the welfare schemes with its beneficiaries .

(a) Pradhan Mantri Jan Dhan 1. Farmers (especially small
Yojana (PMJDY) and marginal farmers)
(b) Mahatma Gandhi National 2. Women from rural and
Rural Employment Guarantee remote areas
Act MGNREGA)
(¢) Pradhan Mantri Ujjwala 3. Low-income households
Yojana (PMUY) and economically weaker
sections
(d) Pradhan Mantri Fasal 4, Rural households living
Bima Yojana (PMFBY) Below the Poverty Line
(BPL)

@ by @ (@
(A) 3 2 4 1
B 2 3 1 4
C) 1 3 4 2
(D) 4 1 3 2
(E) Answer not known
pasdl L miseer sflwrear LwerTells@EsL e @aanss &L ab
(a) Qpgrer wHHM geir Feir Cuimgges 1. eleusmisar (@Hours Sy

(PMJDY) hmitb @n efleusruiiser)

(b) wangwr srpd Casélwu dymoliyp 2. &gmoluyp whpb GsTeaes
Cauemaeumilliy 2 gHlreunss HU Ligdaamars Canbs
sb (MGNREGA) Quekrsear

(c) Qugner wHHM 2 gheuren 3. @H®DHS 6UHLDTEIESMETS
Curgerm (PMUY) Qarar_ &@EbubSeT WHDILD

Qummerngny fElwirs
EedleuanL_fb% o&sET
(d) QGysner wHHMA Susd 4. apews Csmighe Sp
Swr Gurgerr (PMFBY) aumpld Symoliyp &6 bukisEr
(g) - qb) . Ao} D)
(A) 3 2 4 1
(B) 2 3 1 4
C) 1 3 4 2
(D) 4 1 3 2
(E) &l Qsflwueideane

B 115 CCSEI-IAP25
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149. Which of the following is incorrectly paired?

1) Chl — Child Development Index

(2) ABC — Achievements of Basic Children Needs
(3) MPI - Multidimensional Poverty Index

(4) HDI —  Human Development Identification
(A) (2) and (4) (B) (1) and (3)

(C) (1) and (4) (D) (2) and (3)

(E) Answer not known

Hetreumeuareuhmiar eraneu seupms GummhSueTerg) ?

(1) CDI - @ubessd aeiréd GHuSE

(2) ABC - @uiessala sigiua s Comasalar stgmanser
3 MPI - v uflorer agen el

(4) HDI —  walls euertdd senwinemd smewred

A) (2 wppd (4) B) (1) wpmo (3)

©) (1) wpgid> (4) (D) (2) wppud (3)

(E) dfler Gsfweldrene

150. Who introduced the modified scheme of elementary education whlch
provided part-time learning of hereditary occupations?

(A) K. Kamaraj (B) C. Rajagopalachari
(C) T.Prakasam (D) Raja of Panagal
(E) Answer not known

Urbuers Qg mflésanaTi UGS Crrons &H&LD cuensullen
wrhdluewssiul L Qs _&s soalls S das Plapsiiu@ddueut wri?
(A) K. smogrg (B) C. gngCanunanienf

(C) T. Gpansn (D) uewsé =yyair

(E) oo Gsfwueldeme
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151. Choose the right matches :

(1)
2
(3
(4)
(A)
(B)

(©)
(D)

(E)

Shyama Prasad Mukherji — Integrated Cluster Action
Rurban Mission Plans
Saansad Adharsh Gram Yojana - Skill training to global

standards

Rashtriya Gram Swaraj Abhiyan — E-governance in
Panchayats

Deen Dayal Antyodaya Yojana — Poverty alleviation
through SHGs

(1) and (2) are correct

(1) and (3) are correct

(2) and (3) are correct

(1) and (4) are correct

Answer not known

aflurer Qurmssrsmer CaibAsHése .

(1)
)

3)
(4)

(A)
(B)
(©)
D)
(E)

dgwimon 9yeng (paigd emruer laper — @Omdaanhs Seareui it
Qawe i ks

gnensd ysihey Eymo GuimserT - oosamellu s15HHE Hoer
Lullhél

graggfwr Sgmbd eveugr® olblwuner —  UEEFTWSSISETH LleeTgm
B EHDS

Ser swundr 2pSCursLr Cummernr  — &w o gelld (@Gudadr eped
augiento @fiviy

(1) whmb (2) &M

(1) whmd (3) &M

(2) wpmbd (3) &M

(1) whmd (4) #f

eflen Ggflwelldeana
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152. Which among the following is incorrectly paired?

(1)
(1)
(i)
(iv)
(A)
(B)

©)
D)

(E)

Babu Jagjivan Ram
Chhatrawas Yojana

Atal Vayo Abhyuday
Yojana

Pradhan Mantri Jan Vikas
Karyakram

Pradhan Mantri Janjatiya
Vikas Mission

(i1) only

(i) and (ii) only

(i11) only

(iv) only

Answer not known

Construction of hostels
for SC students
Improving the quality
of life of senior citizens
Socio economic
development of refugees
Strengthening tribal
entrepreneurship

YlereumeuameupmIeT SeupTa @ enemdsliLL (HeTarg eTH ?

@
(i1)
(i1i)
(iv)

LML sR&gReue D &&reuma
S
2L auCur ouysGs S b

Gpsw whHM mer allamav

st &b

Yrsw whHf mermdlu eflamen
Blwussd

A) (@) vrEo

(B) (@) whmb (i1) wr @b

(C) (iil) wi @

(D)  (v) wi o

(E) e&fler Qsflwefldrena
CCSEI-IAP25 118

L ig wieblea LDmemTeL T8 (e men
il HHser s (Hse

(pss Glglodsaflen euTDEmss
gnseag Gbu@SHSH

ssdsafler  aeps-Qurmerngmy
aueTié&
L@ Werflenr Qgmifla
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153. Find the elements of India’s climate action :
(i) Net-Zero Emissions by 2070

(i1) Increase Non-Fossil Energy Capacity and Renewable energy
share

(i11) Planting trees and stopping deforestation

(iv) Reduce Carbon Intensity and Carbon Emissions

(A) (1) and (ii) only

(B) (1), (i11) and (iv) only
(C) (i), (iii) and (iv) only
(D) (1), (11) and (iv) only
(E) Answer not known

Qpdwurellen sraflene HLcuysmasullan sapadr WTma ?
(1) 2070&@er far ugsdu 2 Blipay

(1) yegugauopD HOD Hper LHND LGLEss558 ahssduler Lkios
2dlafggd

(i) wyisemer pESH WHMD ST LU HnsssH

(iv) &flo Seflgb whmib sfv 2 18 pmaus Gonssd

(A) () wpgud (1) @D

B) @), (111) wpmb (v) wLED
(C) (), (i) wpmb (iv) W@
D) (), (i) wppn (1v) LW
(E) oL Asfuddas
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155. Match the following :

Schemes
(a) Kalaignar Magalir
Urimai Thittam
(b) Tamil Puthalvan

(¢) Vidiyal Payanam
(d) Pudumai Penn Thittam

@ ® @© (@
(A) 3 4 1 2
(B) 2 1 4 3
) 1 3 2 4
(D) 4 2 3 3
(E) Answer not known

i

Beneficiary

Woman to travel in Govt.
bus at free of cost

Woman college students
who studied in Govt.
schools till 12th standard

Woman head in a family

College students who one
studying in Government
and Government aided
colleges

Yereumeuareupenp Flwms Gummsds smLayb

b

(a) saeest wsalli 2 fows Hb 1.

(b) g8y usausr

(€) efliguidd Lwewrd
(d) ysiewy Quesr HLib

@ M @ @
ORSE s A - A i
B) 2 i | 4 3
(C) 1 3 2 4
(D) 4 2 3 1
(E) &flev GQsflweldene

2.

121

pwiermeflser

CQuens@pssTear @aas
278 CumbgIL LweTh

12ib eusliy euery Sirs
uereflsetidh Ligds Cluie
se@nfl rewreuTseT

Queir @Hus samael

2T& WHMID BiTE 2 FallL
Qumib  sogrflule LgéEb
LD IT @007 G 78 (615 & (5
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156. Assertion [A] : Tamil Nadu Government replaced Rupee symbol

(%) with Tamil letter (g.) in its budget 2025-26.

Reason [R] : To ensure the widespread development of Tamil
Nadu to benefit all.
(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; but [R] is not the correct explanation
of [A] is correct
(C) [A] is false, [R] is true
(D) Both [A] and [R] are true; and [R] is the correct explanation
of [A]
(E) Answer not known
sapm [A] slper® s sag  2025-26  ulQmiged
(X) fenangeng sl (. <sHE Lors sblh awssren
@6 (epumil) wrhblujererg.
snyenrid [R] : S@aehEGh UwaaisEh amasilld SO BILiger
ureuemer cueririéflenw o mifl CQalige.
(A)  [A] &fl, gyame [R] seupy
(B) [A] wppo [R] @ramGw sfl; gemed [R] aeug [A] aeuspe
sflwrer eilenésd b ararug s
(€ [A] saug. [R] &
D) [A] wppwn [R] @ran@n &f; Cuogub [R] eerug [A] efler sflwmer
eflengsih
(E) oferr Qsfweidema
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157. Match the following :

(a) District with highest sex ratio 1. Theni
(b) District with lowest sex ratio 2. The Nilgiris
(¢) District with highest child sex ratio 3. Cuddalore
(d) District with lowest child sex ratio 4. The Nilgiris
@ ® @© @
(A) 2 1 4 3
(B) 1 2 3 4
(C) 2 1 3 4
). 2 4 1 3
(E) Answer not known
shlwrereupenp QuUm(HEgs.
(a) par Quenr eldlgd sisid 1. Gagefl
£ _GTem WmeuLl_L b
(b) yeir Quair eflflsib Gaopeuns 2. Badf
o _6Tem oMUl L b
() «ds Gyies Aoy eldsgid 3. aLgmi
o _@iTern Lomeu L LD
(d) Gonps Gwhos Gpiy 8 4. podf
2_@Tem Wmeul_L b
@ b @ (@
A) 2 1 4 3
(B) 1 2 3 4
(C) 2 1 3 4
(D) 2 4 1 3
(E) efler Gsflweldrena
B 123 CCSEI-IAP25
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158. Tamil Nadu Chief Minister’s Solar Powered Green House Scheme
(CMSPGHS) was launched for the benefit of the

(A) Poor in rural areas

(B) Poor in the semi urban areas
(C) Poor in the small town

(D) Salaried class people

(E) Answer not known

sllps psoewsslar Giu gaflled Huiigd usew 6E Hicb
Qem_rastiul L g

(A) Agmoliyp gey wasEhEETs

(B) &dw psriiyp g 0ésEmésTs

(C) B&TULD el LOSS@RESETS

(D) sbuer auEliy W& EREENE

(E) &fleor Gsflueaideana

159. Due to Global warming the following are badly affected.

(i) Agriculture and Environment

(i1) Agriculture and Industry

(ii1) Agriculture, Horticulture and Environment
(iv) Industry

(A) () and (1) (B) (1) and (111)

(C) (i11) alone (D) (i) and (iv)

(E) Answer not known

yell Geutiuweneugmey  EpssawT.  Zeopaer Gurgnns
urdlasiiLbhEng.

(1) efeusmuid wHHID FHNESLHD

(i) eSeusmubd wHmb Asmfed Hew

(1) efleusmuid, Cam Lsseme LOHMD HHHIFGLHD
(iv) @smfpgiep

(A) @) wpgid (i1) (B) () wpgd (iii)
(C) (i) v @b (D) () wppd (iv)
(E) eflene Qsflwellcvena
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160. Which of the following statements are true about Child
Development Index (CDI)?

(1)
(11)

(iii)
(A)
(B)
(€)
D)
(E)

CDI was developed by the ‘Save the Children’ campaign.

Health, Nutrition and Education are the three indicators

conventionally used for measuring CDI.

CDI is calculated in the same way as that of HDIL
(ii) and (iii) only

(1) and (ii) only

(1) and (iii) only

(1), (i1) and (iii)

Answer not known

Gybas aerisd @HluiE (CDI) updlu Qereumd sppisefics erg o amenio?

(1)
(i)

(iii)
(A)
(B)
(©)
(D)
(E)

‘Guwbassmad stiGumb’ Gyéergssnd CDI e meurssiiurLg).

CDI g wedpaspEe awssorst ULETUESSULGDL apeTn
GD&T gaeT FETSNILD, oan’ L FsHg wHHID sd6fl @b,

HDI semsdlLiu@n 2Gs anflufe CDI sewsduiu@dps.

(i) wppiod (i) veGp

(1) wpgw (11) w b

@) whpmb (i) wr o

(1), (11) whmib (111)

dilen Qsflwelldena
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161. Assertion [A] : The poverty line is determined on the basis of

calorie requirements.

Reason [R] : The poverty line is the minimum income required

to meet the basic needs of an individual which
includes food, clothing and shelter.

(A) Both [A] and [R] are true and [R] is the correct explanation
of [A]
(B) [A] is true but [R] is false
(C) [A] is false but [R] is true
(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A]
(E) Answer not known
sapm [A] : apews Gsr® eeug sConfl  Cseesafien
SigliuenLuld SromaflEsiiLBdng.
sryemd [R] . eamews Gsrh eeaug @ seflsuflar Biglum g
Caeneugenars Liéd Geauiws Caeawumar GophsULS
eu(mHLOTaTom@LD. @Sl o ame), el WHHID ShiEGD GLLD
S Femal L miELb.
(A) spm [A] wpmd smyewrd [R] @reriud &fl, Guogib sryemd [R] sapm
[Alssren sfluren eflaréswn@id.
(B) smpm [A] efl yemed sryewd [R] seum.
(C) smnm [A] seugy <pemmed smyemnd [R] &fl.
(D)  smpm [A] wpmbd smyembd [R] @ran@n &f, syemad sryembd [R] sapm

(E)

[Alssrar eflwner efleréswden

aflen Qgfwelldranc
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162. Arrange the following programmes in chronological order :

(1)
(2)
(3)
(4)
(A)
(B)
(C)
(D)
(E)

Pradhan Mantri Awas Yojana - Gramin

Deen Dayal Upadhayaya Grameen Kaushalya Yojana
Pradhan Manthri Gram Sadak Yojana

Samagra Shiksha Abhiyan

(1), (2), 3), (4)
3), (1), (2), (4)
(3), (4), (1), (2)
(3), (2), (1), (4)

Answer not known

etraumid Blydsanersd sraeflansliuyg siewssa)b.

(1)
(2)
(3)
(4)
)
®)
©
(D)
(E)

Gpgner wHAHM seumey Guimsmert - &ymlen
Seir gumer o ungmumu Aymber Qsersdw Cuimgent
Gygner wpHf Hgmbd ss58 Cuingeant

&0d&y Seagm oAuwimesr

(1), (2), 3), @)
3), (1), ), @)
(3), (4), (1), (2)
(3), (2), (1), (4)
AL Gsfueldema
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163. The main aim of MUDRA Bank is to ;

)

(ii)

(iii)
(iv)
(A)
B)
(©)

D)
(E)

Provide financial assistance to develop Health Industry.
Provide credit to Micro, Small and Medium enterprises.
Provide Credit to develop Tourism Industry.

Provide financial assistance to rural development.

(1), (11) and (iv)
(ii) alone

(1), (1) and (iii)
(1) and (i)

Answer not known

MUDRA aunidlenr apsdlw Curésionans

(1)

(ii)

(i11)
(iv)
(A)
(B)
(&)
(D)
(E)

wmsgas gapaw Cobubss FF e gl Gaigd

fp, GO wHPD PESST ASTPHDHMDES SL6T QUIPEIESD
shpions geopaw CubuBss sL e eupkIEHH®

oarfs eueaniEdlé@ Hlf o el Qg

(1), (11) wpmib (1v)

(11) wi @b

(1), (i1) wpgi> (111)

(1) wpgid (11)

aflen Qsfwclidrenay
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164. Arrange chronological order/event :

(1) Mahalwari system
(2) Ryotwari system
(3) Zamindari system

(4) Gramdan movement

A @, 3),),Q0
B) 3),2),®,Q)
© 3),@), 1,4
D) @),(1),@3),®
(E) Answer not known

&psar_ flapesaa st afl@siubigs :

(1)  wapderfl epaop
(2) rupgenfl gpep
(3) gbargril e

(4) ydgrend eap

a) @), 3),2), Q1)

B) 3),@),@, Q1

© 3,3,10,®

D (@), 1), 3), 4

(E) e Gsfuddos

B 129 CCSEI-IAP25
[Turn over



165. Which of the following statements are true about the Fifteent]

Finance Commission?

(1)
(ii)
(iii)

The criterion of demographic performance has been introduced
The criterion of Fiscal Discipline is given 10% weightage

The criterion of Forest cover is replaced with Forest anc

Ecology
(A) (1) and (ii) only
(B) (ii) and (iii) only
(C) (i) and (iii) only
(D) (), (1) and (iii)
(E) Answer not known
poapsray H eearusess LUpfu Gdemd mppedid Toe
2_GTEn LD W TETen &Y ?
(1)  vésdr Qgrens Gswe Hpeussrer Ldrafae SPPsLLESSIUL HaTars).

(11)
(111)

(A)
(B)
©
(D)
(E)

B8 epusssdine 10% yearelsar aupriistiu@dpg

srhseaflar Lriiy ergyb GfedDHEL u@mrm; & whHmb @Gpelwud erayib
dfley Siflepsliu@ssiiur Hearerg

(i) wpgib (i) weEo
(i1) wpmud (iii) we Eib
(@) wpmid (i) wr G
(@), (i) wpgb (i)
e QsAwuehidea
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166. Identify the correct statement

(a)

(b)

(c)

(d)
(A)
(B)
©
D)
(E)

The rate at which the RBI is willing to borrow from the
commercial banks is called reverse repo rate

If the RBI increases repo rate, it makes borrowing expensive
for banks vice versa

Repo rate is a tool to control inflation
A lower reverse repo rate decrease inflation

(a), (b) and (c) are correct
(b), (c) and (d) are correct
(a), (c) and (d) are correct
(a), (b) and (d) are correct

Answer not known

sflwimen mn&ﬂwgsﬁg ser D&

(a)

(b)

(©

(d)
A)
(B)
©)
(D)
(E)

aafls andsel 8ns ameb sLasstar RBI Gsr@ss afikoynd
aully eldlsC Ber QruGur eil&lgbd

QruCur cldlsgens Fafliugen apod SL6T TGS DETE Qsaay
2sMsdpng, sl umiGumss Gap&spg

Laneisssass sL_HLLESSID smelluns GruCur ddsb 2 drarg
@eopis Bear AruGun s uereisagsmss G@DsSDS

(a), (b) wpgid (¢) &l

(b), (c) wpgib (d) &

(), (¢) wppid (d) &l

(a), (b) whmw (d) &
aflen GQgflwellcdene
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167. Which of the following statements are/is true about “Niti Aayog”?

(1) Niti Aayog has been instituted to replace the Plannin
Commission

(1) It has no power to allocate funds

(1ii) Niti Aayog is a think-tank

(iv) President of India is the Chairperson of Niti Aayog

(A) (i) and (iv)

(B) (iv) only

(C) (1) and (iv)

D) (@, (i) and (iii)

(E) Answer not known

P8 @Curs”  upfl  Geemaeappdr  apss  spdm/eEmbse

©_&HiT e LD U TETEn GL 7

1) Hlis Guhden udors B %Cuns s@wssiu L g

1)  sepive fH egss sdsmd ome

(i) B wCurs @ Sppoas G

(1v) @pdurelan @iqwrss sooar B8 Cursdda s

(A) (i) whpid (iv) .

(B) (iv) w @b

©) (@) wppwd (iv)

D) @), (i) wpg (iii)

(E) eflen QasMwelidranan

CCSEI-IAP25 132 ﬁ



168. Choose the right answer among type :

(1)
(i1)

(iii)

(iv)
(A)
(B)
(©)
D)
(E)

The Ashoka’s Inscription was found at Brahmagiri.

Chinnamanur Seppedu mentioned Thalaiyalanganathu
Pandian Nedunchezhien.

Thirukkovilur Inscription mentions the death of Avvayar,
which was published by T.A. Gopinathanayar.

Ancient inscriptions not available in Karnataka till AD 10.

‘(1) and (ii1) only right

(i1) and (iv) only right
(1) and (ii) only right
(iii) and (iv) only right

Answer not known

Gemeumeuaraupmier sflwnareuperns sarHls.

(@)
(ii)
(111)
@iv)

(A)
(B)
(©)
(D)
(E)

<Csrar  assl Qurdlsdr ewat Grmpdusdd  Crbdfdid
en_&Eleg.

§lenemingyiTé QariGu ST RISTENSS]L LIT @By UL 6T
AphesCsfuamears @HUSHEeaTngl.

8.2 Camiprsprwi uHLG5s HmsCarelignt apss@uTh @erema
o G gpps@ss GHOGGSaDg.

£.9. 10 o prppren® aeorde sde  prind 6irésd
Slen_sselldrenen.

(@) whgib (1i1) wiGib &l
(ii) wpmib (iv) LG &
(i) whmb (i1) wi b &l
(iii) whmbd (Iv) wGib &
elen GgMwailcrens
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169. Assertion [A]

Reason [R]

C.N. Annadurai was fascinated by the self respect

movement, joined the Dravidar Kazhagam Party.

C.N. Annadurai treated Justice Party and

Dravidar Kazhagam equally.

(A) [A] is true, [R] is false

(B) [A] and [R] are true, [R] is correct explanation of [A]

(C) [A]1s false, [R] is true

(D) [A] and [R] are true [R] is not correct explanation of [A]

(E) Answer not known

sapp [A]

smrewrd [R]

f.aer. s@marngery, swoflures  Quisssrd

s wssuu @, drrelli spssdad Canbgi.

A.aer. @mangieny, bHss’ s oppd  Sgrelfli

SP&HMS FLOWLNS HLSHlerm.

(A)  [A] &, [R] saup

(B) [A] wpgo [R] s , [R], [A] ssrer sflwner eflerésid

©€) [A] paug, [R] &

(D) [A] wpgd [R] s, [R], [A] ssrer sfiwner eSerésid 2ide

(E) ofle Qsfweidena
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170. Which of the following statements are true regarding Vellore
Mutiny?

(1)
(i1)
(111)

(1v)
(A)
(B)
©
(D)
(E)

The Mutiny was lasted for eight hours.
The Mutiny was lost its importance due to local treachery.

After the Mutiny, the family of Tippu was transferred to
Madras.

The British captured more than 2000 Indian Soldiers.
(1) only

(i1) and (ii1) only

(1), (i1) and (iv) only

(ii), (iii) and (iv) only

Answer not known

Qemaumd  eaunddwnseaier Ceugnt sosb GgriiyeLw o drewwrer
sahpreug).

(1)

(i1)
(1ii)
(iv)
(A)
(B)
(©)

D)
(E)

Sihss swsb e@ weafl Crrb cuear bysss.
2pss sesb eapri® HCImessTd g ps&EusgeusSamern
Qpbss.

ops sossdhe 9ng Hoy sografar GHOLUD Cedmeansd
WIHOULILL ).

o ufCaowtrser  2,000-85 Copulr @pdu  Auumismern
g Sgrisar.

(1) @b

(ii) whmib (111) i Hid

(1), (ii) whmd (1v) wiFHid

(i1), (ii1) whgid (1v) WG

e Qgfweidena
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171. Arrange the following events in their chronological order.

(1)
@

(3)

(4)

)
B)
©)
D)
(E)

Periyar published the book ‘Pen Yaen Adimaiyanaal’.

Periyar started the Tamil bimonthly ‘Unmai’ at
Tiruchirappalli.

Periyar was arrested for publishing a Tamil translation of
Bhagat Singh’s pamphlet ‘Why I am An Atheist’.

The title ‘Periyar’ was conferred by the Tamilnadu Women
Conference held in Madras.

(1), (3), (4), (2)
(1), 4, 3), @
(4), (1), (2), (3)
(4), (3), (2), (1)

Answer not known

dereumd flapeysmer seupBlen sraaflamsiiug aflasiu@ssab.

(1)
(2

(3)

(4)

A)
(B)
©
(D)
(E)

Quilwr ‘Queir gér SewwTaTE e Lssssms Geuafudr i,

Quflwr ‘2 drenn’ erep SO @mwrs @sey Hmsdymiudrefudia
Qpm_ridlarmir.

ues Amdler ‘pran gar prsdear cep gewr® Grsrsder s
QumAduwiteu Qe spasrs Quilunt esgs Qelwciu L.

Qeerenaruiier per_Gupp sOPHETH Quansedr wrpr ke ‘QuAlwrt’ ererp
UELD eUPRISIULL g

(1), (3), (4), (2)
(1), (4, 3), 2
(4), (1), (2), (3)
4), 3), (2, (1)
eflen. Ggflwelcdena
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172. Which of the following statement/s is/are true about the rationalist
marriage system ‘Self Respect Marriage’, devised by Periyar?

@)

(i1)

(ii1)
(iv)

(A)
(B)
(©)
D)
(E)

The Self Respect Marriages were conducted without any
priests or chanting of the rituals in Sanskrit.

They were often deliberately conducted in times considered
auspicious.

They did away with thali-tying ceremony.

The couples took oaths promising to treat each other equally
and as friends.

(i) and (iii) only

(1), (i) and (iv) only

(1), (iii) and (iv) only

(1), (11), (i11) and (iv)

Answer not known

Quilumi  augeuengs swwofluregs HSmoard aap  UGSsHS
Smwarsest upPlu Sereumb smppsafld eg/eaamea sflurang ?

@)

(i)

(111)
(iv)

(A)
(B)
(©)
D)
(E)

swuwfluress SHEweannasear aps WerlsErd Gdamod oz
swevdlmasde sLtigaer 2 saflEsuLmod BLSSLILLLET.

siewau Qumbungb Ceauar@EwarGp wRsasTOTaETsEs SMHSIUGD
Crrrsefid pLSHOLL L ar.

seuiser gmell s Hib eflprena: guilsgar.

sbuflsdr @meuHECaTmeuT FDWLIFAD BETUTSETTEQD BHLSSHCUSTS
2 nfwefisg ssSlud Ceiigear.

(1) wpmid (111) wi_Hib

(@), (i1) wpgid (1v) o b
(1), (1i1) wHmbd (Iv) LLED
(1), (i), (1ii) wppid (iv)
eflen Gsflweldena
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173. Assertion [A] :  Justice Party opposed the Home Rule Movement

of Annie Besant.

Reason [R] . Justice Party feared that Dominion status would

give more powers to the Brahmins.

(A) [A] is true but [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation
of [A]

(C) [A] i1s false but [R] is true

. (D) Both [A] and [R] are true but [R] is not correct explanation

of [A]

(E) Answer not known

smpp [A] 1 fHss s  o@eflQusaniiger  semenmd | Qusssams

TS558

sryeard [R] :  Qumfeflwen I BSES) QyrioeTisEnss < 8s

(A)
(B)

©)
(D)

(E)

sifamsHenar uphissam B eTar SauemeILIL L g).
[A] 2 amenio spammed [R] seupy

[A] wpmd [R] @ranr@w o arew Gugind [R] ererug [A] dAparear
sflwnren efleTésib

[A] seumy <yame [R] e arenn

[A] wpmb [R] Graw@w eamew semd [R] aaug [A] elpsrer
eflwuren eflendsib sjee

eflen Gzflwelldvena
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174. Arrange the following events in chronological order.

(1)
(2)
3)
(4)
(A)
(B)
(©)
D)
(E)

Kamarajar in Vaikam Agitation
Thirunelveli riot
Madras Mahajana Sabha

Swadesi Sangam

(2), (3), (1), 4
(3), (4), (2), (1)
(4), 2, (), 3)
(1), (3), (4), (2)

Answer not known

Geraupid Hlaspeseanens sraapanplilly aiflesliubsss.

(1)
2)
(3)
(4)
(A)
(B)
(C)
(D)
(E)

eeudsd GummiL dlé &mormei
HmbpaGeusd sasd

C#erenen waTFan FeL

&CsdlE Frsh

(2), (3), (1), (4)
(3), ), (2), (1)
(4), (2), (1), 3)
(1), 3), (4), (2)
eflen Qsflweldena |
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175. Which of the following statements are true about Anjalai Ammal?

(1)
(2)

(3)

(4)
(A)
(B)
(©)
(D)
(E)

Anjalai Ammal was pregnant while in prison

Anjalai Ammal born in Chennai took active part in Neil Statue
protest

Husband of Anjalai Ammal was not interested to participate in
freedom movement

Anjalai Ammal served as Congress MLA from 1937 to 1946

(1), (4)
(2), (3)
(3), (4)
(1), (2)

Answer not known

SiEhFener jbwrenerss Lbdl lereumd smbniseile ergl/eaaney sflwimeang?

(1)
(2)

(3)

(4)

(A)
(B)
(©)
D)
(E)

Siereene jbwrdr Sepulle @mbs Curg sriuwLts Gmbs

Qeerenamuied Gpips 2igreamawibwrdr Bo Heoe CumrmLsde weéw
Lki@ eudlSsmit

Sighemawbwraien sareul sspdrn Gumpm’Lsdd ukig Qupaas
aflpbueildena

SlepFmawibordr sriudlyay e.erd.g.euns 1937 s 1946 ey
uesthwirh e

(1), (4)
(2), (3)
(3), (4)
(1), (2)
aflen GsMlwelevanen
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176. Which of the following is incorrectly paired?

(1)
(2)
(3)

(4)
(A)
(B)
(©)
(D)
(E)

Sir Thomas Munro
Sir Charles Metcalfe
Lord Wellesley

Lord Canning

(1) and (4)
(1) and (2)
(2) and (3)
(3) and (4)

Answer not known

Licensing Act of 1857
Liberator of the Indian Press

Printers name at the bottom of the
paper

System of License and Censorship

Slereumeuameuh e ergl seupns Glevamssiiul [Harang) ?

(1)
(2)
(3)
(4)
(A)
(B)

©)
D)

(E)

g ey wenGom
g gniieey G &mesll
QeudGleaved Sy

srafli Dyy

(1) wpgud (4)
(1) wppud (2)
(2) wppid (3)
(3) wppid (4)
e Qpflucidama

1857 b e o Mivé s b
@pdw usHhsenssafen aﬁ]@g‘;mﬁmnmﬁ
gnafler £Cp FsLQurdlwrart Guwi

2 flenwn whpib senfldans penp
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177. Which of the following statement is/are correct about Vaikam
Protest?

(1)

(2)

(3)
4)

(A)
(B)
(©)
D)
(E)

George Joseph of Kerala acted as the mastermind in the
Vaikam Protest.

Gandhi had difference of opinion about the involvement of
Christian George Joseph in the untouchability issue.

Statue of George Joseph was erected at Madurai.

George Joseph and Karur Neelakandan were not interested tc
join Periyar on Vaikam Protest.

(1), (2), (3), (4)
(1), (2), (3)
(1), (2)

(3) only

Answer not known

Sp&aramueubpeT ergl/ e aeudsd Cumryrib upflu sflwurear sbm ?

(1)

(2)

(3)
(4)

(A)
(B)
(®)
(D)
(E)

Cararmeneus Gerpbg smrig Cmmels eveudsd GumgmlL dlen epenemuwims
GawidoLi’ L mir.

Sam_repns SHasdler Sflevgeurren gy Carel sobgCsrdreudd
snhd &msgs Caumun® QEramg (mHSTT.
sy CegraGen wriruerey fened wgenguiled Hlmyeutiui Hererg.

sy Ggerelib, smi bosar_gib GQuilurt eeadssnd GumpriLgdd
g Gardreues eflmHbueihama.

(1), ), 3), (4

(1), (2), (3)

(1), (2)

(3) b @

eflen_ Qg flwelldene
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| 178. Match correctly :

(a) Kolliporai coins 1. Pandya Kings

(b) Peruvaluthi coins 2.  Chera Kings

(¢) Bead Making Industry 3. Kangayam

(d) Textile Industry 4.  Mohenjodaro
@ b @© (@

(A) 2 1 3 4

(B) 3 2 1 4

(C) 2 1 4 3

(D) 4 2 1 3

(E) Answer not known

Getreu(meuameupenp QU :

(a) Qamevedli@urenn BrewTkiseT 1.  unergwirser

(b) Qupeiwpd BrewTwkiseT 2. Qarfraer

() weflsdr e pusd Qeiyb Asmfipsreoe 3. smCswbd

(d) gefl 2 pusds Qamfpereame 4, GuwnsgresrGrm
(@ ) @© @

(A) 2 5 | 3 4

(B) 3 2 1 4

(C) 2 1 4 3

(D) 4 2 1 3

(E) flen Qzfwellidenay
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179. Reason and Assertion type :

Assertion [A]

Reason [R]

Archaeological  excavations conducted in
Pattanam, Ernakulam, Kerala unearthed signs of

early Roman trade.

The excavation proved that Pattanam was a part

of Muziris, the port city of the Sangam Cheras.

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true and [R] is correct explanation of [A]

(C) [A] is false

(D) Both [A] and [R] are true but [R] is not the correct explanation

of [A]

(E) Answer not known

&TIeRTD WHmID sabm FTTHSSH

apo [A]

sryemd [R]

Gayerd, erramm@engHe edrer Ulgemb Arrogded
pLgsluLL. Ggradlud speurmmisd Qg sssre
Grmoreflw eurenflaganss Gsfalsdng.

susste Gurrstsefler geopaps perrar wdBlulear e
UGHwrs UlLewmd @HbsS eTaTUMS HSPeuUnTmIES)
Hep9é6&8ng).

(A) [A] #f gyeme [R] seum
(B) [A] wppid [R] &M wpmd [R] erergy [Al-er sflwrer efarésid &LD

€ [Al saup

(D) [A] vpgbd [R] sl syerre [R] eremug [Al-en sflwuner eflatésid oida

(E) oflenr Qsflwaldveney

CCSEI-IAP25
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180. Match the following customs with literature :

(a) A custom performed by an 1. Kuruntogai
unrequited Lover
(b) A custom of mixing Palmyra, 2. Manimegalai

sugarcane juice with coconut water

(¢) Custom of offering crow with 3. Tholkappiam
white rice and Ghee

(d) The custom of painting the walls of 4, Purananuru
private houses

@ ® (© (d)
(A) 3 4 1 2
B 2 4 1 3
(C) 4 2 1 3
D) 1 4 3 2
(E) Answer not known

Sereu(Hld LWES eupdshsmar @asdugg 6 CUMBHSHaD.

(@) uf ariusts srsaamed GslwtiL@D 1. Gnilsres
6(1h aULP&SLD

(b) @erffle umer wHYID SHDLESTH 2. vaflGusma
S fluapenps swéED ussh

(¢) Qeucdrenar oiflé wHoID GHUILL 6br 3. Gsrésrud@ub
arsamasE epGaugub @aiub apssLD

(d) ei@sefler seuisafled gaflub S Hb 4. ypprann
GULP&SLD

@ (b © (d)
A 3 4 1 2

M e 4 1 3
4 )2 1 3
2

D) 1 4 3
(E) é&fleor Gsflueidama
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181. Which one is belonging to the Chapter Gratitude in Thirukkural?

(1) Self control of senses, like a tortoise, focussed on results, affords

everlasting protection

(i) Equality is up rightness in thought and conduct always guided

by a rational mind

(11) A friend in need is a friend indeed; do not forget him or forsake

(A)
(B)
(©)
(D)
(E)

comrades

(1) only

(iii) only

(ii) only

(1) and (ii) only

Answer not known

lereumeuareudmIeT eThsd @nar Qeih memblwihsed Sflamrsangs sribeg) ?

()  e@ewydr gowlurd Bis sad aybblér

ET(LpEnLOWLD eFLOML) LyenL &g

(1) sEd aagenp paGp LGS

urhul () st Guber

(i1)) wpeups wrepprr Caameio FpeHs

(A)
(B)
(©)
(D)
(E)

SATLUSHIET FLILITWTT BHL L

(1) G

(i11) wi @b

(ii) wr G

@@, (i) wrEw
el Agflweddaa
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182.

183.

Based on the verse of Thiruvalluvar, “Four ills eschew and virtue
reach” arrange the following human qualities that will make you
reach virtue :

1. Anger

2. Desire

3. Malice

4. Bitter Speech

A 2.8,1,4 B 1,2.4,3
() 4, 8,24 D) 3,2,1,4

(E) Answer not known

‘@é@é;ﬁn Hwermg o’ ererp euet@neut Gpefiereufl Gemaumb GahiEmaT
aufflensiL(B g 5.

1. #lenbd QamenEnze (Qeugeaf)

2. <ys Caner@nged (Bieum)

3. GQumprenv Qamerared (Si(PESTH)

4. shHeplered smmpe (Qenarmébamed)

A 2,314 B) 1,2,4,3

() 4,8,2,1 D) 3,2,1,4

(E) oo QsfNwelidena

Reason and Assertion :

Assertion [A] : A person who thinks that he will not be despised by
others.

Reason [R] : He will refrain the thought of attaining any object
with a forgery from entering his heart.

(A) [A] is true [R] is true

(B) [A] is true [R] is false

(C) [A] is false [R] is true

(D) [A] is false [R] is false

(E) Answer not known

Safm WHDID STTEHTLD CUENS :

sapm [A] : Qoo @epuuLmod  @més Gl e
T 68T )| LI GLI 68T
smpeard [R] @ wn@sn@y  Qunmeperuyd  serengflamed seLwd  snigll

eramend Qpgrflafie ysrguly sresis Qamereumer
(A) app [A] &M, sryerd [R] &M
B) spm [A] &M, smyperd [R] seum
(C) smpm [A] seug, sryemid [R] &M

D) sy [A] seug. smemd [R] seup
(E) e&fe Gsflweflaene
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184. Choose the wrong pair :

1.
2.
3.
iy

(A)
(B)
(©
D)
(E)

seupren Qlevawreniid samL s :

L
Z.
3.
4.
(A)
(B)
(©)
(D)
(E)

Thodakku
Andalai Aduppu
Iyavithulam

Yeri Chiral

1 and 4 incorrectly

1 and 2 incorrectly

2 and 3 incorrectly

3 and 4 incorrectly

Answer not known

Qsmée
HERTL M6 (B
suweilggiemb
erihl&red
1 wpgid 4 geup
1 wpgitd 2 goug)
2 wpmid 3 geumy
3 wpyib 4 eug
eflenL Gsflweidema

CCSEI-IAP25

The ornaments on the neck
Cock shaped
Weapons for gouging the eyes

The equipment to stock Bow and

arrows

sWsHD Yl igulmé@d shidled
Gaaueh euigaumans
sEmenans QETSS D S

<2|bUs6T eeuFEsiud erpdlrbd
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185. Match the following :

Excavated sites in Tamil Nadu

&

(d)

GO B B O

2
3.
4

Mallapadi
Kambar Medu
Kodumanal

Pallavaram

sllpssde ispmia CupGsrarariiulL @)L miser

(a) Chennai
(b) Tanjore
(¢) Dharmapuri
(d) Erode

(@ () (o)
(A) 4 2 1
(B) 2 1 3
ey 3 1 2
(D) 4 1 2
(E) Answer not known
Qummsgs :
(a) Qsemenan
(b) sEramay
(c) ity
(d) =Cor@

@ ® ©
(A) 4 2 1
B 2 1 3
() 3 1 2
D) 4 | 2
(E) <o Ggflweidena

(d)

Lo = = W

1.

2
3.
4

149

LoEhenLIMig.
&buiGu@
Q& (H wemred

Lisbeumau i
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186. Choose the right matches among type :

1. In the ancient day, it was Tamil culture to conduct marriages
on a spread of sand — Akananuru

2. The Groom fastened a thali upon the Bride — Tholkappiyam

3. There was a practice among the people of the bride to give
dowry to the groom'’s family — Nannul

4. There was the practice of conducting the marriage infront of
fire — Silappadikaram

(A) 1 and 4 are correct (B) 1 and 3 are correct
(C) 2 and 3 are correct (D) 3 and 4 are correct
(E) Answer not known

Slereumeuareuppier Aunmsswraraupeans Caibosdss.

1. upmsregde slpradr Hmvense werd umnid fpr assent —
HEBTEDNDI

2. wemwsERs@ warnsdr s salalssd aupsswrEDd — QsrdsriGuib

3. wawwsdr eSigert wamwsd SLLTmES arslsoam QarHEEb
upssSlBEES — peTEd

4. § QOpdluuc Geudrells Hmwentd — AeiuBsmyod

(A) 1 wppw 4 &M (B) 1 wpmb 3 &

(©) 2 wpgw 3 &M (D) 3 whmpd 4 &

(E) &flen @sflwelidvana

187. 8 Men working 9 hours a day complete a piece of work in 20 days.
In how many days can 12 men working for 10 hours a day complete
the same piece of work?

(A) 9days (B) 10 days
(C) 11 days (D) 12 days
(E) Answer not known

8 puiiseT @ preversE 9 wefl Cprb Caee Qsusrd, em Geueamaeu
20 prusefle apuuut. 3G Camaeaw 12 putser gm praverss 10 weaf
Crmb Ceuerer Gawigred erggenar prisafler apigliLi?

(A) 9 priser (B) 10 pm_ser

(C) 11 priger (D) 12 prc_sar

(E) ol Qsfucidena
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188.

189.

190.

Three circles of radius 3.5 cm are placed in such a way that each
circle touches the other two. The area of the portion enclosed by the
circles 1s

(A) 1.967 em® (B) 1.975 ecm®
(C) 19.67 em® : (D) 21.21 em®
(E) Answer not known

<rb 3.5 Qe e w eparm el Liuser erBSsiL’ (B seubhbld egeubeunm
el Lapd whp @rear( eul Lhsemer GQgTHwLrny S@wsstuBEng erafled
Sicuall L hisErs@ @ tiul L ugduler urliuearey

(A) 1.967 Qs..52 (B) 1.975 Q.52

(C) 19.67 Q.52 (D) 21.21 Qs&..62

(E) edfer Gsflweldeame

If the difference between S.I and C.I for 3 years at 5% is Rs. 183,
then find the principal

(A) 18,000 (B) 8,000

(C) 24,000 (D) 30,000

(E) Answer not known

3 wanheersE sensdllrd, safl algsEhd, smULE  ulgsEh
@ Guuerer efllsfwunsd . 183-as 5% awd ey dgsde
L SFmed sFedlen Sl eremen ?

(A) 18,000 (B) 8,000
(C) 24,000 (D) 30,000
() e Ggflusaidama

Ramesh deposited Rs. 15,600 in a fixed deposit at 10% per annum
simple interest. After every second year he adds his interest earning
to the principal. The interest added at the end of 4t year is

(A) Rs. 1,716 (B) Rs. 1,560
(C) Rs. 3,744 (D) Rs. 1,872
(E) Answer not known

@rCwes en. 15,600 g eweuiiyg Qsrenswns ln%ﬁﬂﬂml'_lq. ézsde
@wﬁ

S@ Geudprr. eea@eur L &80T ig 66 D el el
%m@amm &E@JL&T@ mmg.élmrrﬁ maﬂd}q EWIE&TQﬁHLq_Lh gl.&su‘m:}ﬁr @mﬁ
@earss UL aullys CFrens S (GLD.

(A) @ 1,716 (B) e. 1,560
(C) e 3,744 (D) em. 1,872

(E) efen Qsflwelicrena

151 CCSEI-IAP25
[Turn over



191. The salary of A, B and C together amounts to Rs.33,300. If they
spend 80%, 85% and 75% of their respective incomes, their saving:
are as 7:6:9. Find the salary of B.

(A) Rs.8,000 (B) Rs.10,000
(C) Rs.15,000 (D) Rs.12,000
(E) Answer not known

A B C odCunt Qupb esfumseier sm@sd .33,300. eisd
SjaurameLw eamwrasid @mps wepGu, 80%, 85% wppd T5%
Qswey Gewdlempert. Cugih Seis@soiw Gsoluy 7:6:9. el B-é
pardluih eremer ?

(A) e5.8,000 (B) &5.10,000

(C) .15,000 (D) .12,000

(E) ofle Qsflweidena

192. Three numbers are in the ratio 3 : 4 ;: 5 and their L.C.M. is 2400. The
H.C.F of these numbers is

(A) 40 (B) 80
(C) 120 (D) 200
(E) Answer not known

3:4:5 gap dlflgsdd eops 3 eaansefar 8.Qurw 2400 aefld
Siupdler B.Qumer. |

(A) 40 (B) 80
(C) 120 (D) 200
(E) eflen QgfMwueldame

193. If a, b are two digit numbers such that HCF(a, b)=15. Then how
many pairs are available?
(&) 11 (B) 12
C) 14 (D) 15
(E) Answer not known

(@, b) a@r BuQum Qurs uEsd 156 wppb a, b yduemea rleds eaarsdr
araile @eveunm assmar @aan aramadr smewriiu@damne?

A) 11 (B) 12

C) 14 (D) 15

(E) dfer Gsflueidema
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195.

B
421
oL, A 2
5.0 5-3% 6 (93 2
3
1 13
A 1-— B) 2—
(A) 3 (B) 15
7 3
O 1— 2—
© T (D) s
(E) Answer not known
4‘?:‘2'17
6 =i 2 6.2 1
ER . S
5 5-3 5 § g g
R
1 13
A 1-— 2—
(A) 3 (B) 25
7 3
)5 92
©) T (D) =

(E) &fer Gsflueioena

In an A.P, t, —t, = 20. Which one of the following is false?

(A) We cannot determine first term

(B) Difference between first term and 10t term is 60
(C) A.M. of 12th term and 20 term is 16t term

(D) A.M. of 5t term and 30th term is 17t term

(E) Answer not known

@ sl fsbsm_fd ¢, —t, =20, aafld GeraumeuareaupBle erg seupnang ?
(A) wse eplueu Storallés Guers

(B) s epulph@b 107 e gruG@peEn 2 drer efgdwrsn 60

(C) 12%% o gulpd 20 e puQp@d s G& syraf 167 o piiiy

D) 5% e gulpEw 30°® e guipEnd s G srrefl 177 2 gy

(E) e Gsfueidaa :
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196. Mary is 16 years old. She is 4 times older than her brother. How olc
will she be when she is twice his age?
(A) 20 (B) 24
(C) 28 (D) 32
(E) Answer not known

Gufl ererueuflar ghCumreamgw euwg 16. seudr sarg so9ulear auwens el

4 wLmE duflueadr aefld eudar sarg sbGear auwms efl 2 wLrkE
Quflweuearra @)m&Gb Qurepg, Cufufer auwig ererar?

(A) 20 (B) 24
(C) 28 (D) 32
(E) dfer Gsflweidene

197. Pick the odd one from

CGKO : BFJN : AEIM : FDKN

(A) CGKO (B) BFIN

(C) AEIM (D) FDKN

(E) Answer not known

Qar@éstiuc L eupger Agr_mldewnrs apsass searplueb?
CGKO : BFJN : AEIM : FDKN

(A) CGKO (B) BFJN
(C) AEIM (D) FDKN
(E) oo Qsfweldemea

198. There are 5 machines that make 5 parts in 5 minutes. How long
does it take to make 100 parts in 100 machines?

(A) 5 minutes (B) 100 minutes
(C) 50 minutes (D) 30 minutes
(E) Answer not known

5 epdiruser 5 unstiseer 5 Al kselld surfsgoramed 100 apdrmimser
100 unstiseer ereucuaray HillLtusaflédr swrféeib?

(A) 5 Allmiser (B) 100 flifl_ruser

(C) 50 Al _ruser (D) 30 B rsser

(E) oo Qsfueidame
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199.

200.

When we write like this A1B4C9D16.....Z676, what 1s total value of
the numbers followed by P and Q?

(A) 770 (B) 677

(C) 869 (D) 481

(E) Answer not known

A1B4C9D16.....Z676 eran erpgib Gung P oppid Q—apéd Qsmiguiu@n
eramaatien Gongs whliiy eremer ?

(A) 1770 (B) 677
(C) 869 (D) 481
(E) e&flen Qgfweiicoena

Given below are 4 pictures of a cube.

PP

Which number is on the face opposite to 37
A) 1 (B) 2

©) 4 (D) 5
(E) Answer not known

EC prenE, sensgThsdT QarhésiiulHidreren

P QP

3 erep erawmantlh@ erHCr o drer LESSHL GuHLD ETeRT
A 1 (B) 2

C) 4 D) 5

(E) ofler Ggflweiidana
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